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Question Number : 1 Question Id : 5362284698 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

[dentify the characteristics and basic requirements of reflective level teaching 1n the
following list of statements:

a) Teacher presents the information and 1deas systematically to help recall them when
needed

b) Teacher conducts drills and exercises to fix up the 1deas 1n the minds of students.

(c) Issues are raised and discussed with a view to sifi;the potentiabrationalsolution of
problems,

(d) Teacher asks students to give examples and parallel 1deas.

(e) Academic sessions are conducted in a dialogic mode to explore and explain the basis of
arguments.

Choose the correct answer from the options given below:

(a) and (b) only
(c) and (d) only
(c) and (e) only
(d) and (e) only

Options:

53622818301. 1
53622818302. 2
53622818303. 3

53622818304. 4



Question Number : 1 Question Id : 5362284698 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options:

53622818301. 1
53622818302. 2
53622818303. 3

53622818304. 4

Question Number : 2 Question Id : 5362284699 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



For effective teaching which of the following 1s a key behavior?

1. Encouraging students to elaborate their own answer or that of other students.
2. Summarizing what was told by a student.
3. Teacher gives comments for the purpose of organizing what is to come.
4. Making 1deas clear to learners who may be at different level of understanding.
Options :
53622818305. 1
53622818306. 2
53622818307. 3

53622818308. 4

Question Number : 2 Question Id : 5362284699 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

53622818305. 1
53622818306. 2
53622818307. 3
53622818308. 4

Question Number : 3 Question Id : 5362284700 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which of the following strategies of teaching are learner-centered?
(a) Cybernetics

(b) Lecture with audio visual aids

(c) Question-answer sesslon

(d) Practical tasks based project

(e) Group discussion

Choose the correct answer from the options given below

Only (a) and (d)
Only (a) and (b)
Only (c) and (d)
Only (d) and (e)

Mo Sahe

Options :

536228183009. 1
53622818310. 2
53622818311.3

53622818312. 4

Question Number : 3 Question Id : 5362284700 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :
53622818309. 1
53622818310. 2
53622818311.3

53622818312. 4

Question Number : 4 Question Id : 5362284701 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following sequences correctly reflects the development of teaching support
systems 1n Indian higher education?

Audio-visual, Aural-oral. Visual and ICT based.
Aural-oral, Visual, Audio-visual and ICT based

ICT based, Audio-visual, Aural-oral and Visual
Visual, Aural-oral, ICT based and Audio-visual

i

Options :

53622818313. 1



53622818314. 2
53622818315. 3

53622818316. 4

Question Number : 4 Question Id : 5362284701 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

53622818313. 1
53622818314. 2
53622818315.3

53622818316. 4

Question Number : 5 Question Id : 5362284702 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In which of the following evaluation systems, evaluation occurs informally during
instructions?

Evaluation in choice-based credit system
Evaluation through computer based testing
Summative evaluation

Formative evaluation

il s

Options :

53622818317. 1



53622818318. 2
53622818319. 3

53622818320. 4

Question Number : 5 Question Id : 5362284702 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options:

53622818317. 1
53622818318. 2
53622818319.3
53622818320. 4

Question Number : 6 Question Id : 5362284703 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



There are two sets given below 1n which Set I offers Types of Research and
Set II gives their description. Match the two sets:

SET I SET II
(Types of Research) (Description)
Egg:laliimental (1) In-depth study with focus on typicalities

‘(b)App]ied Research (11) Intervention based ameliorative moves

(o5 hiotion Hescusch (111) Exploring applicability of truths/principles to new
situations

‘(d)Case Study Research |(1v) Impact studies to watch effects
(v) Adding to corpus of knowledge by formulating theory

Choose the correct answer from the following options:

- (@) - (v), (b) - (), (¢) - (@), (d) - ()
- @-0. b -1@. (©-w).d- (W)
- (@) - @).(b) - (). ) - (). (@d)-(¥)
- (@) - @). b) - @) (© - (V). @ - O)

H= o D=

Options :
53622818321. 1
53622818322. 2

53622818323. 3 d d
53622818324. 4 a a

Question Number : 6 Question Id : 5362284703 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

53622818321. 1
53622818322. 2
53622818323.3

53622818324. 4

Question Number : 7 Question Id : 5362284704 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In which of the following research methods, manipulation and control of variables, and
randomization of sample are two of the basic requirements?

Ex-post facto research
Descriptive research
Case study research
Experimental research

= B ba

Options :

53622818325. 1



53622818326. 2
53622818327. 3

53622818328. 4

Question Number : 7 Question Id : 5362284704 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options:

53622818325. 1
53622818326. 2
53622818327.3

53622818328. 4

Question Number : 8 Question Id : 5362284705 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following sequences correctly represents the steps of research using a
quantitative paradigm?

1. Hypothesis framing, Hypothesis testing, Conclusions and Reporting.

2. Establishing a research problem, Hypothesis framing, Hypothesis testing,
Generalization and conclusions and Implications of results

3. Problem 1dentification, Sample selection, Developing a research design and Field
work.

4. Defining a problem, Survey of related studies, Sampling, Data collection and Data
analysis

Options :



53622818329. 1
53622818330. 2
53622818331. 3

53622818332. 4

Question Number : 8 Question Id : 5362284705 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

53622818329. 1
53622818330. 2
53622818331. 3

53622818332. 4

Question Number : 9 Question Id : 5362284706 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



In terms of research ethics, which of the following may be considered as the most
vulnerable stage?

Defining the purpose and scope of study

Defining the population and sampling method

Data analysis, interpretation and reporting of results
Selection of research tools whether qualitative or quantitative

e S

Options :

53622818333. 1
53622818334. 2
53622818335. 3

53622818336. 4

Question Number : 9 Question Id : 5362284706 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

53622818333. 1
53622818334. 2
53622818335. 3

53622818336. 4

Question Number : 10 Question Id : 5362284707 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



ICT application 1n research 1s most useful for which of the following reasons?

1. For reducing the cost of research
2. For academic establishment
3. For enhancing scope of accessibility of research data
4. For promoting dialogic interactions
Options :
53622818337. 1
53622818338. 2
53622818339. 3

53622818340. 4

Question Number : 10 Question Id : 5362284707 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

53622818337. 1
53622818338. 2
53622818339. 3

53622818340. 4

Question Number : 11 Question Id : 5362284708 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



The key to effective listeming by students 1n a classroom 1s

Sympathy towards the teacher
Interest in informal education
Empathetic learning

Desire to memorize

e

Options :

53622818341. 1
53622818342. 2
53622818343.3

53622818344. 4

Question Number : 11 Question Id : 5362284708 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

53622818341. 1
53622818342. 2
53622818343.3

53622818344. 4

Question Number : 12 Question Id : 5362284709 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Communicated message 1s considered as a/an

Social product
Unnatural product
Spin-off product
Techno product

il g

Options :

53622818345. 1
53622818346. 2
53622818347.3
53622818348. 4

Question Number : 12 Question Id : 5362284709 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

53622818345. 1
53622818346. 2
53622818347.3
53622818348. 4

Question Number : 13 Question Id : 5362284710 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Semantic nolse 1n classroom communication can be imited by avoiding the use of

Dialogues
Cliched jargon
Non verbal cues
Multi-media

ol bo =

Options :

53622818349. 1
53622818350. 2
53622818351.3
53622818352. 4

Question Number : 13 Question Id : 5362284710 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

53622818349. 1
53622818350. 2
53622818351.3

53622818352. 4

Question Number : 14 Question Id : 5362284711 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which of the following are useful in overcoming the communication barriers in a classroom?
a) Identifying the level of redundancy

b) Use of unfamiliar words

¢) Ienoring the students' vocabulary

d) Fragmented sentences

e) Voice inflexion

f) Contextualizing the speech

Choose the correct answer from the options given below

1. Only (a). (b) and (¢)
2. Only (b), (c) and (d)
3. Only (c). (d) and ()
4. Only (a), (¢) and ()
Options :
53622818353. 1
53622818354. 2
53622818355. 3

53622818356. 4

Question Number : 14 Question Id : 5362284711 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

53622818353. 1
53622818354. 2
53622818355. 3

53622818356. 4

Question Number : 15 Question Id : 5362284712 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Given below are two statements — one 1s labelled as Assertion (A) and the other as Reason

(R).

Assertion (A): Skills of oration coupled with wit and humour make classroom
communication compelling

Reason(R): Rhetorical interventions do not make classroom communication purposeful
In the light of the above two statements choose the correct option

1. Both (A) and (R ) are true and (R) 15 the correct explanation of (4)

2. Both (A) and (R) are true but (R) 1s NOT the correct explanation of ()
3. (A)1s true but (R) 1s false

4. (A)1s false but (R) 1s true

Options :

53622818357. 1
53622818358. 2
53622818359. 3
53622818360. 4

Question Number : 15 Question Id : 5362284712 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

53622818357. 1



53622818358. 2
53622818359. 3

53622818360. 4

Question Number : 16 Question Id : 5362284713 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The missing two numbers 1n the following series are

1.4, 3,16, 5, 36. 7, 7, 9, 100.

. 50
. 64
. 42
.81

B 00 b0
0o 00 =] =]

Options :

53622818361. 1
53622818362. 2
53622818363. 3
53622818364. 4

Question Number : 16 Question Id : 5362284713 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options:
53622818361. 1

53622818362. 2



53622818363. 3
53622818364. 4

Question Number : 17 Question Id : 5362284714 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Average of three numbers 1s 22. Sum of two of the numbers 1s 24 and these two numbers
are In the ratio 7:5. Find the three numbers.

-6, 30, 42
6. 25, 35
14, 10, 42
4. 20, 42

et R b e

Options :

53622818365. 1
53622818366. 2
53622818367.3

53622818368. 4

Question Number : 17 Question Id : 5362284714 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options:

53622818365. 1
53622818366. 2
53622818367.3

53622818368. 4



Question Number : 18 Question Id : 5362284715 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

In a certain coding language CHEMISTRY 1s writtenas DGFLJR U Q Z. then in the
same code ‘GEOMETRY will be written as :

HDPLFSSZ
HDLPFSXS
HLDPFSSX
HDPLFSSX

i~

Options :

53622818369. 1
53622818370. 2
53622818371.3

53622818372. 4

Question Number : 18 Question Id : 5362284715 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options:

53622818369. 1
53622818370. 2
53622818371.3

53622818372.4

Question Number : 19 Question Id : 5362284716 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

If 20% of (a+h) = 50% of (ab) and 40% of (a-b) = 70% of ab, then what fraction of a 13 b?

3 -3 4 17
|, = 2. — -, SR ;i
17 17 17 3
Options :
53622818373. 1
53622818374. 2
53622818375. 3

53622818376. 4

Question Number : 19 Question Id : 5362284716 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

A (a+h) FT 20% (ab)&F 50% F TR § AR (a-b) FT 40% ab F 70% & &K ¢ v b.
2 T T T AR 2

3 -3 4 17

L= Az = B = "

17 17 17 3
Options :

53622818373. 1
53622818374. 2
53622818375. 3
53622818376. 4

Question Number : 20 Question Id : 5362284717 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



The next term 1n the following series 1s ABB. BCF, CDL 7.

DEU
DET
DES
DER

e

Options :

53622818377. 1
53622818378. 2
53622818379. 3

53622818380. 4

Question Number : 20 Question Id : 5362284717 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

53622818377. 1
53622818378. 2
53622818379. 3

53622818380. 4

Question Number : 21 Question Id : 5362284718 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Out of the given four options which one does not belong to the class of other three?
Neurologist. Cardiologist, Alchemist, Gynecologist

1. Gynecologist
2. Cardiologist
3. Alchemist

4. Neurologist

Options :

53622818381. 1
53622818382. 2
53622818383.3

53622818384. 4

Question Number : 21 Question Id : 5362284718 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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Options :

53622818381. 1
53622818382. 2
53622818383.3
53622818384. 4

Question Number : 22 Question Id : 5362284719 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



The proportions “All Indians eat rice” and “Some Indians eat rice” are an example of

Subalternation
Contraries

Contradictions
Sub contraries

ot

Options :

53622818385. 1
53622818386. 2
53622818387. 3

53622818388. 4

Question Number : 22 Question Id : 5362284719 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
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53622818385. 1
53622818386. 2
53622818387. 3

53622818388. 4

Question Number : 23 Question Id : 5362284720 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



In Indian logie. which means of knowledge 1s drawn from the similarity between two
objects?

Comparison
Inference
Perception
Implication

e L0 o

Options:

53622818389. 1
53622818390. 2
53622818391.3
53622818392. 4

Question Number : 23 Question Id : 5362284720 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

53622818389. 1
53622818390. 2
53622818391. 3

53622818392. 4

Question Number : 24 Question Id : 5362284721 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which of the following statements expresses information use of language?

Get out of my class.

Why are you =o late?

I request my students to be punctual
She 1s very caring and cooperative

pec £ P =)

Options:

53622818393. 1
53622818394. 2
53622818395. 3
53622818396. 4

Question Number : 24 Question Id : 5362284721 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

faeafof@a # & #i9 o1 FU7 A9 F GIAAT ITA F AHGIT FH £

. A FET ¥ TET T A0

AT 304 eFaa #47 § 2
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Options :

53622818393. 1
53622818394. 2
53622818395. 3
53622818396. 4

Question Number : 25 Question Id : 5362284722 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



“Mr. X 1s penniless. Therefore, he should be preferred for admission to college”. This
reasoning represents which kind of fallacy?

Ad hominem
Ad mizericordiam
Ad baculum

Ienoratio elenchi

et~ e

Options :

53622818397. 1
53622818398. 2
53622818399. 3

53622818400. 4

Question Number : 25 Question Id : 5362284722 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

"TRTET TFT el g1 SHIGIT 3HH! Felacaerd & 999 ¢ & S{@ar gar 1=
AT "TF 7% - A HE TFR F &Y F WTH § 2

. UE EfEaA
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Options :

53622818397. 1
53622818398. 2
53622818399. 3

53622818400. 4

Sub-Section Number : 2
Sub-Section Id : 536228188
Question Shuffling Allowed : Yes

Question Id : 5362284723 Question Type : COMPREHENSION Sub Question Shuffling Allowed :



Yes Group Comprehension Questions : No
Question Numbers : (26 to 30)

Question Label : Comprehension

Consider the table given below and answer the questions that follow:-

PbHiahis Number of |Ratio of Afzadem.ic Percentage of | -.‘?To. of |
o Bogks and Lun- | BO_Dks Dlslt.l'ﬂ.mtors n
Published | Academic Books | Distributed |Publishing H-::-usel
A 28200 73 81 17
B 32200 | 59 74 23
C 29700 6:5 92 18
D 31200 &b 86 24
E 33800 T:6 78 26
F 35700 11:6 82 21
G 37800 held 89 24

Sub questions

Question Number : 26 Question Id : 5362284724 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

What 1= the difference between the number of academic books pubhished by publishing
houses A and D?

450
504
540
604

il

Options :

53622818401. 1
53622818402. 2
53622818403. 3
53622818404. 4

Question Number : 27 Question Id : 5362284725 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



How many books were given to each distributor by publisher E, if each distributor gets
equal number of books?

1024
1014
986
962

el Il

Options :

53622818405. 1
53622818406. 2
53622818407. 3

53622818408. 4

Question Number : 28 Question Id : 5362284726 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
What 1s the average number of non-academic books published by publishers F and G?

1. 18850
2. 18950
3. 19850
4. 19950

Options :

53622818409. 1
53622818410. 2
53622818411.3

53622818412. 4

Question Number : 29 Question Id : 5362284727 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



If the total number of books published by publishers D. E and F 1s increased by 20% and
the total number of books published by the remaining publishers be decreased by 20%.
what will be the new average of books published by all the publishers?

31880
32518
33318
33610

i

Options :

53622818413. 1
53622818414. 2
53622818415.3

53622818416. 4

Question Number : 30 Question Id : 5362284728 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

What 1s the total number of books distributed by publishers C and E?

53688
54026
27513
27324

. =

e L0

Options :

53622818417. 1
53622818418. 2
53622818419.3
53622818420. 4

Question Id : 5362284723 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (26 to 30)

Question Label : Comprehension



feratferiiaa aferst R faor d gU 3T nenfed neat &1 3w § -
THd  FeHE AR fEle v T

T et & e R g A R
g F Ao ICE R

A 28200 7:3 81 17

B 32200 5:9 74 23

C 29700 6:5 92 18

D 31200 8:5 86 24

E 33800 7:6 78 26

F 35700 11:6 82 21

G 37800 513 89 24

Sub questions

Question Number : 26 Question Id : 5362284724 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

T I A R D ZEAR FHIAT HFCHF oAl 1 TCAT H (ehelall Had §

450
504
540
604

a2 =

hns

Options :

53622818401. 1
53622818402. 2
53622818403. 3

53622818404. 4

Question Number : 27 Question Id : 5362284725 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



(¢ T 4T FF F TAW HCIT H TFa+ Ao € a1 50 faaws 1 e
TETh & 8 o

1024
1014
986
962

o ek

o

Options :

53622818405. 1
53622818406. 2
53622818407. 3

53622818408. 4

Question Number : 28 Question Id : 5362284726 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

TE F AR G ZaN TG I FFE A el @ Aad GEIT ohaell ¢ 7

18850
18950
3. 19850
4. 19950

b =

Options :

53622818409. 1
53622818410. 2
53622818411.3

53622818412. 4

Question Number : 29 Question Id : 5362284727 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



g J1erF D.E AR F AN THIT TFahl 1 Fof TEAN H 20% JhE Fm § 3T
AT FRIEH! H TrAH # 20 FTowrd 1 FA @A § A T TR @ g
TEAR! 1 e e §

31880
32518
33318
36610

e o D

Options :

53622818413. 1
53622818414. 2
53622818415. 3

53622818416. 4

Question Number : 30 Question Id : 5362284728 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Y C 3R EZERT f9ad gea=t 1 &l Felfrder § 2

53688
54026
7513

2
27324

L VI S

-

Options:

53622818417. 1
53622818418. 2
53622818419.3
53622818420. 4

Sub-Section Number : 3
Sub-Section Id : 536228189
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 5362284729 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Identify the correct pair from the following:

AVT - File Transfer Protocol
Excel - Word Processing Software
HDD - Cloud Storage Facility
Ubuntu - Operating System

W i Do =

Options:

53622818421. 1
53622818422. 2
53622818423.3

53622818424. 4

Question Number : 31 Question Id : 5362284729 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

faeafof@a & & @ér 77 1 98919 FL

1. T 3 TS - FISol TIAHT Flerehiol
. T 3 3 - Far3E =R e
4. 3a=q - A& Fren

[ -]
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Options :

53622818421. 1
53622818422. 2
53622818423. 3

53622818424. 4

Question Number : 32 Question Id : 5362284730 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



BCD stands for

Binary Coded Decimal
Binary Coded Digit
Bit Coded Decimal

Bit Coded Digit

e LRilg

Options :

53622818425. 1
53622818426. 2
53622818427. 3

53622818428. 4

Question Number : 32 Question Id : 5362284730 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

& o & FT FAr T B

. 9TSAL FIES SHIHS
. arEalr FEs BfEe
. faT 3T sEA
. TaT T3 BlEE

E=Y Laa | o bt

Options :

53622818425. 1
53622818426. 2
53622818427.3

53622818428. 4

Question Number : 33 Question Id : 5362284731 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which one of the following allows a phone call to be routed over network wires?

1. Video Conferencing
2. Teleconferencing
3. Optical Fibre

4. VOIP

Options:

53622818429. 1
53622818430. 2
53622818431.3
53622818432. 4

Question Number : 33 Question Id : 5362284731 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

faraifeg & ¥ frOd A28 aOY & ACUR U B Fie B 5 gFar

1. f&afsar F=pfam
. Hiftewer FE
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Options :

53622818429. 1
53622818430. 2
53622818431. 3

53622818432. 4

Question Number : 34 Question Id : 5362284732 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which one of the following represents one billion characters?

1 Kilobyte
1 Megabyte
1 Gigabyte
1 Terabyte

B B D

Options :

53622818433. 1
53622818434. 2
53622818435. 3

53622818436. 4

Question Number : 34 Question Id : 5362284732 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

FoET # ¥ FiF 3 (Fomes) 9900 F1 9=5e 90T £ 7

1. 1Fer Tz
2. 13IM a8
3. 13T 9Ee
4. 18T 912¢
Options :
53622818433. 1
53622818434 2
53622818435, 3

53622818436. 4

Question Number : 35 Question Id : 5362284733 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Serambling of data before transmission across a network to avold manipulation by a third
party is known as

Protection
Permutation
Detection
Encryption

Options :

53622818437. 1
53622818438. 2
53622818439. 3

53622818440. 4

Question Number : 35 Question Id : 5362284733 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

et g o e I @ T & o Rl Sees B T 5 9@ s e
(BHaTeRT) T F97 F31 17 £ 2
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Options :

53622818437. 1
53622818438. 2
53622818439. 3

53622818440. 4

Question Number : 36 Question Id : 5362284734 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



A measure such as building a plinthwall for floods would be termed as

Preparedness
Prevention
Mitigation
Adaptation

e

Options :

53622818441. 1
53622818442. 2
53622818443.3

53622818444. 4

Question Number : 36 Question Id : 5362284734 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
g U F T T (Foy) deR 9 S 3917 FT F47 F21 =109 2

. g3 JIm
. FEmor
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Options :

53622818441. 1
53622818442. 2
53622818443. 3

53622818444. 4

Question Number : 37 Question Id : 5362284735 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



At present, in India. the total installed renewable power capacity 1s accounted for by:
(a) Solar Power

(b) Wind Power

(c) Hydropower

(d) Urban and industrial waste to energy conversion

(e) Biomass power

(f) Geothermal power

Choose the correct answer from the options given below

Only (a). (b). (c), (¢) and (f)
Only (a). (b). (c). (d) and (f
Only (a). (b). (c). (d) and (e)
(a), (b). (c). (d). (e) and ()

i

Options:

53622818445. 1
53622818446. 2
53622818447.3

53622818448. 4

Question Number : 37 Question Id : 5362284735 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



AN & T8 & F TR FEH0IE 31 &8 & frataes # fru-few a7
IEE £

(a) B FA0

(b) T F

(c) 9o g

d) Y AT AAF 3R FFA F T

(c) ATATATE 3T
() o 3=
farafafea # @ w8 faFeq ==
1. (). (b). (c). (&) 3T ()
2. (a). (b). (¢). (d) FTAD
3. (a). (b). (c). (d) 3 (¢)
4( (b). (¢). (@) (@) IR (9
Options:

53622818445. 1
53622818446. 2
53622818447. 3

53622818448. 4

Question Number : 38 Question Id : 5362284736 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

The most relevant effect of particulate matter in air. on human health 1s:

1. Impaired blood formation

2. Chest tightness

3. Aggravation of respiratory disease

4. Headache and rise in blood presszure level

Options :



53622818449. 1
53622818450. 2
53622818451. 3

53622818452. 4

Question Number : 38 Question Id : 5362284736 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

53622818449. 1
53622818450. 2
53622818451.3

53622818452. 4

Question Number : 39 Question Id : 5362284737 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



(1ven below are two statements one 1s labelled as Assertion (A) and the other 1s labelled as
Reazon (R):

Assertion(A) : It 1s crucial to sustain Himalayan ecosystem
Reason (R): Himalayan ecosystem 1s home to a number of indigenous tribes.

In the light of the above two statements choose the correct answer from the options given
below

1. Both (A) and (R) are true and (R) 1s the correct explanation of (A).

2. Both(A) and (R) are true but (R) 1s NOT the correct explanation of (A).
3. (A) 12 true but (R) 1s false

4. (A)1s false but (R) 1s true

Options :

53622818453. 1
53622818454. 2
53622818455. 3

53622818456. 4

Question Number : 39 Question Id : 5362284737 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

AT g Fua o aw ¥ - AT (A) @R T FF (R):
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Options :

53622818453. 1



53622818454. 2
53622818455. 3

53622818456. 4

Question Number : 40 Question Id : 5362284738 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

In developing countries, the fraction of food waste in the composition of municipal solid
waste 1s typically in the range

10-15%
20-30%
25-35%
Greater than 40%

P b =

Options:

53622818457. 1
53622818458. 2
53622818459. 3

53622818460. 4

Question Number : 40 Question Id : 5362284738 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Rermefier ot # AT 3 HUET F TEAT § WET FUISA F HT H gEd
T F g 0

10-15%
20-30%
25-35%

40% ¥ HOF

e ad bl

Options :
53622818457. 1

53622818458. 2



53622818459. 3

53622818460. 4

Question Number : 41 Question Id : 5362284739 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

In order to be eligible for the status of 'Deemed to be University', an institution, among
other essential conditions, must have to 1ts credit, which of the following?

1. At least 2 research publications in peer reviewed or SCOPUS/WOS
journals per year per faculty

2. At least 5 research publications in peer reviewed or SCOPUS/WOS
journals per year per faculty.

3. At least 1 research publication in peer reviewed or SCOPUS/WOS
journals per year per faculty.

4. At least 3 research publications in peer reviewed journals per year per
faculty

Options :
53622818461. 1
53622818462. 2

53622818463. 3

53622818464. 4

Question Number : 41 Question Id : 5362284739 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

53622818461. 1
53622818462. 2
53622818463. 3

53622818464. 4

Question Number : 42 Question Id : 5362284740 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Which of the following schemes of Government of India aims to support innovative research

projects that are socially relevant, locally need based, nationally important and globally
significant?

SPARC
STRIDE
IMPRESS
STARS

Options :

53622818465. 1
53622818466. 2
53622818467. 3

53622818468. 4



Question Number : 42 Question Id : 5362284740 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options:

53622818465. 1
53622818466. 2
53622818467.3

53622818468. 4

Question Number : 43 Question Id : 5362284741 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Under GATS . higher education policies are to be framed by which of the following
Departments?

Education

External Affairs
Commerce and Trade
Urban Planning

(=R b=

Options :

53622818469. 1
53622818470. 2
53622818471.3

53622818472. 4



Question Number : 43 Question Id : 5362284741 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :

53622818469. 1
53622818470. 2
53622818471.3
53622818472. 4

Question Number : 44 Question Id : 5362284742 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



Which of the following are the main recommendations of 'Knowledge Commission' with
regard to higher education in India?

(a) More regulatory institutions

(b) Closure of private universities

(c) Massive expansion of higher education.

(d) Focus on affirmative action

(e) Efforts to achieve excellence

(f) Nationalisation of higher education

Choose the correct answer from the options given below
Only (a). (b) and (c)

Only (b), (d) and (f)

Only (c). (d) and (e)
Only (d). (e) and (f)

= BabD

Options :

53622818473. 1
53622818474. 2
53622818475. 3

53622818476. 4

Question Number : 44 Question Id : 5362284742 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options:

53622818473. 1
53622818474. 2
53622818475.3

53622818476. 4

Question Number : 45 Question Id : 5362284743 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



(Given below are two statements ; one 1s labelled as Assertion (A) and the other 1s labelled

as Reazon (R).

Assertion (A): Central Universities are considered elite higher education institutions in
India.

Reason (R): Despite their ehitist image, these institutions do not find place in the top order
of international ranking.

In the hight of the above two statements choose the correct answer from the options given
below

Both (A) and (R) are true and (R) 1s the correct explanation of (A)

Both (A) and (R) are true, but (R) 1s NOT the correct explanation of (4)
(A) 13 true, but (R) 1s false

. (A) 1s false, but (R) 1= true

Options :

53622818477. 1
53622818478. 2
53622818479. 3

53622818480. 4

Question Number : 45 Question Id : 5362284743 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
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Options :



53622818477. 1
53622818478. 2
53622818479. 3

53622818480. 4

Sub-Section Number : 4
Sub-Section Id : 536228190
Question Shuffling Allowed : Yes

Question Id : 5362284744 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (46 to 50)

Question Label : Comprehension

Read the following passage carefully and answer questions that follow.

Under a freely flexible exchange rate system and a stable foreign exchange market, the
nation's currency will depreciate until the monetary defieit 1s entirely elminated. Under a
managed float, the nation's monetary authorities usually do not allow the full depreciation
required to eliminate the deficit completely. Under a fixed exchange rate system, the
exchange rate can depreciate only within the narrew.dimits.allowed go that, most of the
balance of payments adjustment must come from elsewhere. A depreciationsfo the extent
that 1t 1s allowed. stimulates production and incomé™n the'defieit*nation and induces
imports to rise, thus reducing part of the original improvement in the trade balance
resulting from the depreciation under a freely flexible exchange rate system. This simply
means that the depreciation needed to eliminate a balance-of-payment deficit 1s larger than
if these automatic income changes were not present. Except under a freely flexible
exchange rate system. a balance-of-payment tends to reduce the nation's money supply.
thus 1ncreasing 1ts interest rates. This. 1n turn. reduces domestic investment and income in
the deficit nation, which induces its imports to fall and thereby reduces the deficit. The
Increase In Interest rates also attracts foreign capital. which helps the nation finance the
deficit. The reduction in income and in the money supply also causes prices in the deficit
nation to fall relative to prices in the surplus nation, thus further improving the balance of
trade of the deficit nation,

Sub questions

Question Number : 46 Question Id : 5362284745 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



What 1= needed to completely ehiminate the monetary deficit?

1. Conditioned exchange rate

2. Complete currency depreciation

3. Volatile foreign exchange market

4. Free exchange rate system
Options :

53622818481. 1
53622818482. 2
53622818483. 3

53622818484. 4

Question Number : 47 Question Id : 5362284746 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Why full depreciation 1g not allowed?

1. BoP adjustment should come from elsewhere
2. Because of foreign exchange shortage

3. For improving trade balance

4. Full depreciation does not eliminate deficit.

Options :

53622818485. 1
53622818486. 2
53622818487.3

53622818488. 4

Question Number : 48 Question Id : 5362284747 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Limited depreciation of currency 1s allowed to

Nullify trade balance under free exchange rate system
Restrict forelgn investment

Increase domestic production

Curtail higher income

e R DD B



Options :

53622818489. 1
53622818490. 2
53622818491.3
53622818492. 4

Question Number : 49 Question Id : 5362284748 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

What happens under a free exchange system?

1. Reduction in money supply
2. Larger depreciation in the absence of automatic income changes
3. Increase in interest rates
4. Less domestic investment
Options:
53622818493. 1
53622818494, 2
53622818495, 3

53622818496. 4

Question Number : 50 Question Id : 5362284749 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

According to the passage, deficit in balance of payvments leads to

1. Price increase in the deficit nation

2. Automatic adjustments in income

3. Fall in 1mport by surplus nations

4. Improvements in the trade balance of the deficit nation

Options :

53622818497. 1
53622818498. 2
53622818499. 3



53622818500. 4

Question Id : 5362284744 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (46 to 50)

Question Label : Comprehension

frrafafed e F eamEs T AR neal F s e

T WaT W ¥ 777 Rfam @ somel qu fw el g Rfamm aew #
FFT, TF T I F A 79 7F 2 T T 7% AgH 9T WO FAed
T E T VT e F FE. e # AfE et @ o o Ao
T TAT A F o0 AET [0 A F HAS T Ad AN £ T
T R @ omh # s9E e @ F s F99 AR T
ATt & A @ T € A A o Bl A wAEeE e A
R S | F A A F AP AN O ¥R A A
3oeH 39T H1T F GIcHES He T FOE # 37 2 3R 5 9FR U TEAT &
¥ 77 RfemT @ omh & AeT e ¥ 3 SR Sged A A0 AfoE
QU & FA 10| W B 0 FE £ F I AT H T T o vaee
7 @ @ A Woa Fadl O AW FAT T F O @R AR 39 w7
# HFTHAT 2| UF T T § 70 RfAEgel § FAEL s ¥ 6
HUF H A F FA A § AR RO A & A 314 2 8l 59
FOL O & I @ TF & 0o 99 U ARG & FA 31 S § JU7 566
Fotaw HAT # FAT T G § AT ORT FH O A E WS A I F
Fror fagelt o5 & off s T 81 W A PufY & ® we i g A
W F T Tg A T HFGA AN 4 A F FE o A E A gea A oA
FAN 3T S ¢ O TAERT o § T T F @WK §dod A JUN 3
gl

Sub questions

Question Number : 46 Question Id : 5362284745 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



AiftF a¢ F FYOT 37HEA &g F4T JETF € ?

1. g faaw o

. YOI HaT HEHAA

. aiEaAfe Bt ggr aen
4. Taa¥ fafEmT g7 qomer

[ ]

Eaa

Options :

53622818481. 1
53622818482. 2
53622818483. 3

53622818484. 4

Question Number : 47 Question Id : 5362284746 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
TYUT HAIHeIA H AFATT FAT F7ET aT el &

1. A Hded HadT FAESS Fel Sl § (Frar = =T1ig vl
. el 7or F 3w F FRw

IR Ted # TR o F &

4. HYOT HEHeAA § ©TET FATT ¢! 3 8

| ]

L]

Options :

53622818485. 1
53622818486. 2
53622818487.3

53622818488. 4

Question Number : 48 Question Id : 5362284747 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



TET * WfeT Feqeaa #1 FAla & Jar e

1. T3a7 fafasT o7 omer § H¥a9e R Hoid F HATH F & fov
. fogelr forer | st e F o

. I 3c9eA T F o
4, IR FT F FH & T

[ ]

L]

Options :

53622818489. 1
53622818490. 2
53622818491. 3

53622818492. 4

Question Number : 49 Question Id : 5362284748 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

a7 afaAT qume & e 2 e

1. o Hqfa & FA

Taq: ufed A Fadt SRadal F Sauield Hagecas STaaedd
o A

. Oy fAdr A FA

o L [ -]

Options :

53622818493. 1
53622818494. 2
53622818495. 3

53622818496. 4

Question Number : 50 Question Id : 5362284749 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



HIUT & HFUR. JId oA H °11E F QN UTHESST 2ar &

. 9 ¥ 75T T H J77 I3

2. MNTHCAT H T4 TATISA

3. @ & fPufE & 99 @ weel g9 Hag # e

4. UC ¥ ITFF TS ¥ WON Hgod H FUX

Options :

53622818497. 1
53622818498. 2
53622818499. 3
53622818500. 4

PART II Hindi

Section Id :

Section Number :
Section type :
Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :

Section Marks :

Mark As Answered Required? :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Question Number : 51 Question Id : 5362284750 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

53622864
2

Online
Mandatory
92

92

200

Yes

1
536228191

Yes



fferfiaa § = -a1 e 92va 951 2 7

(1) EAE| (2) @A
(3) FH (4) =7
Options :

53622818501. 1
53622818502. 2
53622818503. 3

53622818504. 4

Question Number : 51 Question Id : 5362284750 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

fferfiaa § = -a1 e 92va 951 2 7

(1) EAE| (2) ATE
(3) FH (4) =14
Options :

53622818501. 1
53622818502. 2
53622818503. 3

53622818504. 4

Question Number : 52 Question Id : 5362284751 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

fferfiga § FH-91 952 A0 2, 5 951 7

(1) =g (2)
(3) FH (4) W
Options:

53622818505. 1



53622818506. 2
53622818507. 3

53622818508. 4

Question Number : 52 Question Id : 5362284751 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

" E i 'EI-'..I _j;n'__; J_:_:-rl‘rl%'.:_rﬁ:i_;ﬁ?

(1) L [ (2) =
(3) EAE] 4y W
Options :

53622818505. 1
53622818506. 2
53622818507. 3

53622818508. 4

Question Number : 53 Question Id : 5362284752'Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
Ffetfiga O ® FiA-H1 9197 ST % 9T 981 oA B 7

(m! ]

(1) HEN (2) wEEl
(3) At @) T
Options :

536228185009. 1
53622818510. 2
53622818511. 3

53622818512. 4

Question Number : 53 Question Id : 5362284752 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
fraferfiga O & F-w 9 AEE % Fard T8 i 2 2

[ A

(1) ] (2) ®EHE
(3) At (4) T
Options :

536228185009. 1
53622818510. 2
53622818511. 3

53622818512. 4

Question Number : 54 Question Id : 5362284753 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

‘arfra’ freferfiaa 4§ fm a0 e 20

rm -

(1) i (2) =T
3 (4) =
Options :

53622818513. 1
53622818514. 2
53622818515. 3

53622818516. 4

Question Number : 54 Question Id : 5362284753 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

‘aitE’ efeEa § | TR e e s B 7

r e -~

(1) i (2) I
(3) @i @) =

Options :



53622818513. 1
53622818514. 2
53622818515. 3

53622818516. 4

Question Number : 55 Question Id : 5362284754 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

T TF F STER T o R -

(1) 10 2y 9
(3) 3 4 7T
Options :

53622818517. 1
53622818518. 2
53622818519. 3

53622818520. 4

Question Number : 55 Question Id : 5362284754 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

=g 99 % STIER AT = A R -

(1) 10 {2y 9
(3) e 4 7
Options:

53622818517. 1
53622818518. 2
53622818519. 3
53622818520. 4

Question Number : 56 Question Id : 5362284755 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
Tz A1z 91 s Ansan|

[ o i o .
I A Uil R 7

(1) ELEC] (2) =Foad
(3) =W (4) sifemT
Options :

53622818521. 1
53622818522. 2
53622818523. 3
53622818524. 4

Question Number : 56 Question Id : 5362284755 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
Biz A1E 91 se A

U T GiFaT FEh & 7

(1) Tz (2) =HoEd
(3) =W (4) i
Options :

53622818521. 1
53622818522. 2
53622818523. 3

53622818524. 4

Question Number : 57 Question Id : 5362284756 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



THEg I ® ATER HEiad 5§ gASE #ed W = 5 7

(1) 9%ed (2) #HEg
(3)  FHrEE HEgh (4) Ta=mm

Options :

53622818525. 1
53622818526. 2
53622818527. 3

53622818528. 4

Question Number : 57 Question Id : 5362284756 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

y

TH=IE 9 o AR etatad 5 9 g e & =i

(1) 99=d (2) FHEE
(3) ST HE 4) T
Options :

53622818525. 1
53622818526. 2
53622818527. 3
53622818528. 4

Question Number : 58 Question Id : 5362284757 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

‘_‘| l:l":f-{rj '&W‘T I" [;1'.':1’;-!?. I"-f! :\ ET Iiu\’?l q Tr-".'?

(1)  ames =T (2) TwEE A
(3) 7 T () T T

-t

Options :



53622818529. 1
53622818530. 2
53622818531. 3

53622818532. 4

Question Number : 58 Question Id : 5362284757 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

(1) o 1 freA (2) g I
(3) 7N VARG g (4) TR T
Options:

53622818529. 1
53622818530. 2
53622818531. 3
53622818532. 4

Question Number : 59 Question Id : 5362284758 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
F=fertiga 8 9 Fia-H FHe=y i arfeas e 181 2

[ i

(1) AT (2) AR
(3) TSI (4) ATEHETF
Options :

53622818533. 1
53622818534. 2
53622818535. 3

53622818536. 4



Question Number : 59 Question Id : 5362284758 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Feferiga 8 | F-d ey i arfcas e 181 2

— i

(1) A (2) TR
(3 Ao (4) ATTETF
Options :

53622818533. 1
53622818534. 2
53622818535. 3

53622818536. 4

Question Number : 60 Question Id : 5362284759 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

‘T’ % e B

(1)  HgrEE @) | T e
(3) =T Ay (4)  THW =
Options :

53622818537. 1
53622818538. 2
53622818539. 3

53622818540. 4

Question Number : 60 Question Id : 5362284759 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
(1)  wgmaH (2) SSHIE TR

(3)  =for Ay (4) T W



Options :

53622818537. 1
53622818538. 2
53622818539. 3
53622818540. 4

Question Number : 61 Question Id : 5362284760 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

ffefaa 4 @ #ia =i Feeasn 78 27

(1) oS 9= (2) =l vEE fgEa
(3)  ToentEm Ty (4) FTERATT T
Options :

53622818541. 1
53622818542. 2
53622818543. 3

53622818544. 4

Question Number : 61 Question Id : 5362284760 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
fefefaa 4 & #iA =t Heeawn 735 27

(1)  TmHEg I (2)  Fa wEE faEd
(3)  Taentam fau (4)  FEEA" T
Options :

53622818541. 1
53622818542. 2
53622818543. 3

53622818544. 4



Question Number : 62 Question Id : 5362284761 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

"I AR AR JUi e HefeiEd § ¥ R s e R v

.

(1) EIREEG]] (2) 7= =+
(3) T wEER (4) whE-TE
Options :

53622818545. 1
53622818546. 2
53622818547. 3

53622818548. 4

Question Number : 62 Question Id : 5362284761 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

" TR AR I S AR | Sl ST B Tt

.

(1) gl (2) == F:
(3) T wEET (4) TEAT-TE
Options :

53622818545. 1
53622818546. 2
53622818547. 3
53622818548. 4

Question Number : 63 Question Id : 5362284762 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



AT S A gl W T A i e Fefaiaa § 3 R s 8 e e

(1) 90 TF (2) e THA
(3) =W = UF O 4) af=
Options :

53622818549. 1
53622818550. 2
53622818551. 3

53622818552. 4

Question Number : 63 Question Id : 5362284762 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

AT T F T T 1A F B A et 7§ I e e

(D) g W (2) T THAT
(3) T Al UF A b o
Options :

53622818549. 1
53622818550. 2
53622818551. 3
53622818552. 4

Question Number : 64 Question Id : 5362284763 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
=t # 1 @t T -afa wEE e =)
% 30 A FE Hf e 27

(1) AT THAA AT A (2) I oo ared @A
(3) = =|H (4) HATFEEAN
Options :

53622818553. 1



53622818554. 2
53622818555. 3

53622818556. 4

Question Number : 64 Question Id : 5362284763 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
St # Tt Fa-wlea Faf gmEE =0
I 30 H FE W s R Y

(1) AT Thid A= e (2) A== fawFd ar=a A
(3) =g =M (4) TETFREAE
Options:

53622818553. 1
53622818554. 2
53622818555. 3

53622818556. 4

Question Number : 65 Question Id : 5362284764 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

S 2 FT U A A 2| S W W A A7 AW AW aulq W, o, v, 76, A, o ate
Tl g 3% F Fhew 27

(1)  ==Er = e e (2) g T
(3) 790 TEE (4) vIM T g
Options :

53622818557. 1
53622818558. 2
53622818559. 3

53622818560. 4



Question Number : 65 Question Id : 5362284764 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

i 2 P 3W A 21 I e 20 W A e A, Y, e, T, T, e
ardt )" 3w o 7

(1)  wFeER vEE T (2) TwEg I
(3)  FNI THE (4) Mg TE
Options :

53622818557. 1
53622818558. 2
53622818559. 3

53622818560. 4

Question Number : 66 Question Id : 5362284765 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

freAfefea 5 9 =3 @ %97 735 T5 2 ¢

(1) =75 =1 S99 Hg el & ST g Sa (4= = |
(2) I T = W A R T S R R F e - a9 2

(3) La:ia-fl :[ -E-Ij-.-hi.ul '-F[ mﬁ hid :H'[ ‘f[ TeRdl =R HTHE #ATHE HHE1 'T:-';|

(4) 3T 1 FF THG w2l & SE g w1 ST A 2
Options :
53622818561. 1
53622818562. 2
53622818563. 3

53622818564. 4

Question Number : 66 Question Id : 5362284765 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



ffefiga § | F19 T 599 T8 T8 27

(1) 0 H 0 g w2l  SEF g J gad o= 2

(2) g A e W a2 T R fen % wrem se-gen 7

(3) T T ATF 1 Tt FenaTl i THaT F HHA TR A6 2
(4) T F ATV G w2l F ST faga S A 2
Options :
53622818561. 1
53622818562. 2
53622818563. 3
53622818564. 4

Question Number : 67 Question Id : 5362284766 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

feferfiaa & & B9 T 599 T 21
. G T N AR . ~ %) 1 : G : P 3 -
(1) 75534 | 75 Fq a0 f@zi@ (Biographia Literaria) 7 Fo0 % fagred #1 fawga
feprerm 2

(2)  EHHAS o FicAe AN A A5aaY B - o e sl e weEay 4 e 5 T
F1 T2 TF Heedqul F 97

(3) eI T STIET T F FA F qed T FACTHA T A 7, T AR T

(4) T B HANS Fad A G (0 A A 2| A A I G T A

Options :

53622818565. 1
53622818566. 2
53622818567. 3

53622818568. 4

Question Number : 67 Question Id : 5362284766 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



et 0 @ #0599 T8 27

(1) 5599 6 THg Ffd S e (Biographia Literaria) § Fo F fagra #1 foeqa
fogerm 2

(2)  HEHAE 2 HeAs A falerm agHad § - ey 0 A Few F gay § 36 5 g6
T 77 TF TEeA T FE 7

(3) S % S AT el Fid F o7 A FHeAcATA 7 2, I6% AR A

(4)  FH F FAS Faed FF o F A0 AEE T 2| A A I G T A

Options :

53622818565. 1
53622818566. 2
53622818567. 3
53622818568. 4

Question Number : 68 Question Id : 5362284767 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

freafefiga § @ fog fag o weme MEl sif <1, Mg s o A T a7

(1) At (2)1 &= docer g
(3)  FEom (4) A

Options:

53622818569. 1
53622818570. 2
53622818571.3

53622818572. 4

Question Number : 68 Question Id : 5362284767 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

frefafaa d @ g fog o wememr mef @i =, diwa smsea % o gads 17

P

(1) A= (2) 1= HagmEn gl

(3)  FHEom (4) wATHad



Options :

53622818569. 1
53622818570. 2
53622818571.3
53622818572. 4

Question Number : 69 Question Id : 5362284768 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

ffefiga 8 @ 9 =1 S-SR F1 9 T8 2|

(1) IEETREI (2)  F=aE
(3) TaEsa (4) I
Options :

53622818573. 1
53622818574. 2
53622818575. 3

53622818576. 4

Question Number : 69 Question Id : 5362284768 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

fAtefEa 5 9 #19 = S5 -3 gl F1 9 75 2

|:1:| lJ-I';q"-:ll;_.l’,"‘:l | :2:‘ :q'; _;.’3 Iy
(3) TaEsT (4) ==
Options :

53622818573. 1
53622818574. 2
53622818575. 3

53622818576. 4



Question Number : 70 Question Id : 5362284769 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

A TEER T A 1 CaEfa wer Teei faane e oww O gam et

(1)  Siorpem ¥g (2) wEEE= T
(3)  TEAfEE Wl FwEer (@) Fruriam T
Options :

53622818577. 1
53622818578. 2
53622818579. 3
53622818580. 4

Question Number : 70 Question Id : 5362284769 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

A gETER v fgEd st e gad faane e s @ gam et

(1) =P Hg )N Sl
(3)  TEAfEE Wl FwEer (4) TmriEm A
Options:

53622818577. 1
53622818578. 2
53622818579. 3
53622818580. 4

Question Number : 71 Question Id : 5362284770 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Feferfiaa 9 @ =i A srraren aedard e # afasa 2
(1)  TEERT 1 AfHERE (2) 3EE TF

(3)  TEH T (4) afadT 1 satEEa



Options :

53622818581. 1
53622818582. 2
53622818583. 3
53622818584. 4

Question Number : 71 Question Id : 5362284770 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Feferiiga 5 | =i = SEunn AT R % Tiahd 7|

(1)  TEE[T 1 A=+ (2) AEE T9F
(3)  =TEE HETH P
Options :

53622818581. 1
53622818582. 2
53622818583. 3

53622818584. 4

Question Number : 72 Question Id : 5362284771 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

T TR Y F FEE TGS F T | NS Wi Hetangs § 5w O #9127

(1) 7 3R W (2) e st g
(3) WS 3N = (4) T 3 Fe
Options :

53622818585. 1
53622818586. 2
53622818587. 3

53622818588. 4



Question Number : 72 Question Id : 5362284771 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

et T fag Fit Faa wage & S 4 e Aifq fetataa 7 7 e o 48 27

(1) T 3 A (2) Tewor siw e
(3)  ug N wH (4) T T T2
Options:

53622818585. 1
53622818586. 2
53622818587. 3
53622818588. 4

Question Number : 73 Question Id : 5362284772 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

TR T § T S W H e W FE A G o TR Fa Al
T2 Fo T 2 -

(1) e o (2) TR TG
(3) T (4) T
Options :

53622818589. 1
53622818590. 2
53622818591. 3

53622818592. 4

Question Number : 73 Question Id : 5362284772 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



At YA % IS A IR AF S Wi H FE A g AR SAeRaer F8 8l
T F T 2 -

(1)  AmE @) THEEY T
(3) T 4) TeRd
Options :

53622818589. 1
53622818590. 2
53622818591. 3

53622818592. 4

Question Number : 74 Question Id : 5362284773 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

T T B W, g9 W 1 |

I e i g A e e | e 2

(1) 31 4TEET & A0 21 W (@) ([ THH F 5 aH T
(3)  FA HEHEA STfeEn H 9o W (4) o Tl gAT o =H W
Options :

53622818593. 1
53622818594. 2
53622818595. 3

53622818596. 4

Question Number : 74 Question Id : 5362284773 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



= FgEN W AT, [ 68 9% 44

ST 3E ST GE A 5w A Y

(1) A AYFEE % T 26 W (2) T % T TH W
(3) = FomgEA st fi g w (4) T R g o A W
Options :

53622818593. 1
53622818594. 2
53622818595. 3

53622818596. 4

Question Number : 75 Question Id : 5362284774 Question Type

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

e =T |

SugFd GiFadl = AUE 9 fefeiad § ® Fi |5 w56 a6 2 v

(1) =91 3@are (2)  SATEHTEATEAT
(3)  wrEHIm i fraf (4) ATHEAYA
Options :

53622818597. 1
53622818598. 2
53622818599. 3

53622818600. 4

Question Number : 75 Question Id : 5362284774 Question Type :

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

: MCQ Option Shuffling : No Is

MCQ Option Shuffling : No Is



ST W1 g m .,

EiceieimEe il

SuAed dieaal % AR W Fefataa 8 O $9 w w5 16 ey

(1) =9 " @ (2)  TEETEATEAT
(3)  =EeE il g (4) HEEEA
Options:

53622818597. 1
53622818598. 2
53622818599. 3
53622818600. 4

Question Number : 76 Question Id : 5362284775 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

“afz wzr S W HUTH S R EHEE e S A e g I s e E

FIOEH] % TEd § I O o B 7

(1)  TaFA 915 gfFaary (2) WM T2 FAR A
(3) A g I (4) T TR
Options :

53622818601. 1
53622818602. 2
53622818603. 3

53622818604. 4

Question Number : 76 Question Id : 5362284775 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



“afs g A oY AU FH F FAM U A F R w0 2, 9 A F e s e B

T F T2l 0 IR F R 27

(1)  TaFA H199 gty (2) EH T FAR A
(3) s W I (4) R TET
Options :

53622818601. 1
53622818602. 2
53622818603. 3

53622818604. 4

Question Number : 77 Question Id : 5362284776 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

HIET, gl T ST

|E FE A 9T e S e

féq #&d 2 T 29T gEEYH EHHE] |

A d g% o2 I3 & B HIE HfE S5

it e i - T w2

(1)  arfdes smfEerE (2) HHETIE HET
(3)  arfde HeguE (4) Ukvarare §1 g
Options :

53622818605. 1
53622818606. 2
53622818607. 3

53622818608. 4

Question Number : 77 Question Id : 5362284776 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



I, gt S

|l FEl T A 9T g St
fég #&d 2 U9 BUT JEeTHH TEHT|
IE 2% A WG & W HiE AR T

W?ﬁ#ﬁﬁa«‘h—mmmﬁﬁﬁ%

(1)  arfids srfzer (2) HEII HiEr
(3)  wifife HguE (4) uHvETETe Hl HfeaT
Options :

53622818605. 1
53622818606. 2
53622818607. 3

53622818608. 4

Question Number : 78 Question Id : 5362284777 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

0 Sie 3R R e o ° R ST, | o

(1)  TaartEm (2) SEmELAT T
(3) 3R fEgE (4) T * W
Options :

536228186009. 1
53622818610. 2
53622818611. 3
53622818612. 4

Question Number : 78 Question Id : 5362284777 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



T A AR TR A e i g e s F O A 7

s o~

(1) ECUiniL (2) TGl A+
(3) 3w fagS (4) 90 % TR
Options :

536228186009. 1
53622818610. 2
53622818611. 3

53622818612. 4

Question Number : 79 Question Id : 5362284778 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

(1)  sfmrea-vivsa s (2) YA — H7e]
(3)  HruE foE - e () - FEZTH e wE
Options :

53622818613. 1
53622818614. 2
53622818615. 3

53622818616. 4

Question Number : 79 Question Id : 5362284778 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

(1)  =HmeEE-vvea Tmm (2) TR - 9
(3) s faE - Ared (4) EEmE-ToE=T 9=
Options :

53622818613. 1
53622818614. 2



53622818615. 3

53622818616. 4

Question Number : 80 Question Id : 5362284779 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

= fofas 9 5 0 S0 4 S90Rn % EEd % UF FEA T fE 79 H FwE e 2

(1) (2) ¥
(3) 5 gz g (4) AT Am g 2
Options :

53622818617. 1
53622818618. 2
53622818619. 3

53622818620. 4

Question Number : 80 Question Id : 5362284779 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

= fofige O o g 300 | 90T & u:.ﬂi't:c»l % TF FEEAET 91 T frEE T i FE g 27

(1) e (2) @ e
(3) T gEam Bam (4) 7Tl T Tt
Options :

53622818617. 1
53622818618. 2
53622818619. 3

53622818620. 4

Question Number : 81 Question Id : 5362284780 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No



Correct Marks : 2 Wrong Marks : 0

‘T F ST Sl % A GEE] U ST A R 3UeE 3 e T T B

(1) A9 &2 (2) HETHTS
(3) T2 B TR 4) T A
Options:

53622818621. 1
53622818622. 2
53622818623. 3
53622818624. 4

Question Number : 81 Question Id : 5362284780 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

‘T 31T ST A % A el W ST FUe e 2eE H e e 2

(1) =17 &2 (2) TETHTS
(3) 721 73 TSaEE (4) Tl san
Options :

53622818621. 1
53622818622. 2
53622818623. 3

53622818624. 4

Question Number : 82 Question Id : 5362284781 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

o .,_-J.T_l._ﬁ-[.__.-_:. ‘-r,_rﬁ:__ﬁqﬁ:f:?

(1) I A R R @) T s A
(3) FEOT AT T @ 3 S5

Options :



53622818625. 1
53622818626. 2
53622818627. 3

53622818628. 4

Question Number : 82 Question Id : 5362284781 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

2 .,_-_..r__jﬁ-[.,-'.:. 1r,,.:_ﬁ:_,ﬁ1:|'|7_‘[%':f?

(1)  gargdg 3 Gerie 2) T iR
(3)  HOT S TEE @) 3 Bt
Options :

53622818625. 1
53622818626. 2
53622818627. 3

53622818628. 4

Question Number : 83 Question Id : 5362284782 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

e e A T e 2 5 G e § w2

(1)  TaFa F AEEgd FTgHR 57 (2) RIS % T fagom
(3)  TaEm %1 A (4) =rEEd F AN
Options :

53622818629. 1
53622818630. 2
53622818631. 3

53622818632. 4

Question Number : 83 Question Id : 5362284782 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

‘T A2F ° TS F 39 B4 % fefatgd e § @ F9-31 FRe g8 76 27

(1)  TaFa F AFEEGd JFgFR 7 (2) gmTETE % i fagem
(3)  fawmr =1 vza= (4) HEEH F1 H9E
Options :

53622818629. 1
53622818630. 2
53622818631. 3
53622818632. 4

Question Number : 84 Question Id : 5362284783 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

T % fequ ¢

(1) T (2) T
(3)  TEAEE (4) WEq R
Options :

53622818633. 1
53622818634. 2
53622818635. 3

53622818636. 4

Question Number : 84 Question Id : 5362284783 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



T & T ?

[&l

() T (2)  FAR
(3) T (4) wmEd TR
Options :

53622818633. 1
53622818634. 2
53622818635. 3
53622818636. 4

Question Number : 85 Question Id : 5362284784 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

TEH YT A Wiec T A 59 A S 9 T F T 1 2 1 A e

F1 TdH 3T AT WA W | AE TR e 5 A, 3 SE @0 e &

T T =

(1)  =edHmm (2) AT AT
(3) T (4) T W
Options :

53622818637. 1
53622818638. 2
53622818639. 3
53622818640. 4

Question Number : 85 Question Id : 5362284784 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



SEM TR Aed Afeed % A 36 F G o o waem  we 8 f2 0w amias G

F1 T AN T WEA G 9g TR S T A T T R e

T o

(1) =T Wy (2) I ATF
(3)  TFAR At (4) T o
Options :

53622818637. 1
53622818638. 2
53622818639. 3

53622818640. 4

Question Number : 86 Question Id : 5362284785 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

T HUT-T5T il ot el 3T 912F & -

(1) e (2)  3Tzal o1
(3) PEGIRIE]] (@) T FCEOEE
Options :

53622818641. 1
53622818642. 2
53622818643. 3

53622818644. 4

Question Number : 86 Question Id : 5362284785 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

AT FUT-TE =l == ToTar 7T T F -

(1) e (2) 134t =
(3)  UEe e (4) T IR FOTEE

Options :



53622818641. 1
53622818642. 2
53622818643. 3

53622818644. 4

Question Number : 87 Question Id : 5362284786 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

4 £ b Y s i Fa - i o [
HEFET HHRT =RE H9liecd=hE =hl HITHNHEE Al & ¢

(1)  =traa=z (2) Ty 2R
(3)  wHAEs (4) Yo gEMATEEE
Options :

53622818645. 1
53622818646. 2
53622818647. 3

53622818648. 4

Question Number : 87 Question Id : 5362284786 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

4 I b i~ . - r (a) oo
HERT HHETRT T=RE HIlecdsh i =h] HI9HMHEE Al 7 ¢

(1)  =twa== (2) TEEAT" 2R
(3) TAEg (4) H-ﬂ.ﬂ IE__,@-H 2R
Options :

53622818645. 1
53622818646. 2
53622818647. 3

53622818648. 4

Question Number : 88 Question Id : 5362284787 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

T 9 % AgET ety | 9 e uy § Heme w5 A )
(1) E ICCES (2) v=EmEd
(3)  ITREA wHEm @) Ty
Options:

53622818649. 1
53622818650. 2
53622818651. 3
53622818652. 4

Question Number : 88 Question Id : 5362284787 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

THEE U9 & AAR feteaiad 4 8 5 a4 349w Fr avE 2

(1) E ICCES (2)  "=mEd
(3)  =TfEdt wemm @y g
Options :

53622818649. 1
53622818650. 2
53622818651. 3

53622818652. 4

Question Number : 89 Question Id : 5362284788 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

“HETedl = HifEeT § FaAl HiehE 241 98, 9 TEcAT HE0 R Al 9IE S92
%-: .E._.-r.l. = .-.T,Izﬁ[%?
(1) 2 g == (2) W E=EY Aqd

(3) AR fom (4) 3o TOE



Options :

53622818653. 1
53622818654. 2
53622818655. 3
53622818656. 4

Question Number : 89 Question Id : 5362284788 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

“HETedl = WiEeT § Al MioET 24 98, 9 TEcas HE0 R Al 9IE g9 #|

(1) :l_-:’ F'jn:-"ll-.l o EI-'J' *ZI"E (2 IMH =&Y = :_.::
(3) W= (4) 3umy fHE
Options:

53622818653. 1
53622818654. 2
53622818655. 3
53622818656. 4

Question Number : 90 Question Id : 5362284789 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

F12 Tafer=m Fies, Tl & 999 § HEtengd o FiE o0 9T Tel A5 2 ¢

(1) =9 Fed & W= F41 TewEe 4|
(2) AT O TETT S ITREU & e S sgen ot
(3) AT ARAE 9T 1 AAERA TE A = o
(4) =& =TT 1800 3. 7 7 o)

Options :

53622818657. 1

53622818658. 2



53622818659. 3

53622818660. 4

Question Number : 90 Question Id : 5362284789 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Fle Taferaq Fiers, Fo9d] & Tad § Fefcigd 8§ d FH 5 F949 T8 95 27

(1) =9 *erd & Tr=/E F41 w4
(2)  TIHE o AT 2 TG % ey i suerem off|
(3) AT ARG 9T T AAERAT T8 A = o
(4) =& ETET 1800 3. 7 7 o

Options :

53622818657. 1

53622818658. 2

53622818659. 3

53622818660. 4

Question Number : 91 Question Id : 5362284790 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

feTgd | a7 97 & :

(A) =

(B) b

i 7

D) 7

= fau o faeat 0 @ wE I g

(1) (A). (B), (O (2) (B). (C). (D)
(3) (A). (C), (D) (4 (A (D)

Options :



53622818661. 1
53622818662. 2
53622818663. 3

53622818664. 4

Question Number : 91 Question Id : 5362284790 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

@a «

B) @

e &

D 7

=t fau o faeat 0 @ &@F I g

(1) (A). (B). (C) (2 (B (C). (D)

(3) (A). (C).AD) 1) A D)
Options:

53622818661. 1
53622818662. 2
53622818663. 3

53622818664. 4

Question Number : 92 Question Id : 5362284791 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



T A, 1955 F F9ER Fefangd g=a fae 7o 2

(A) T2 maEitas =iel T T9E 5[ el 9 2, TA 9H 9Ed 1 UF qeaE w2
(B)  wigs 99 & 39 % WA F UoAF faendl #1 Bl F 99 0 o1 =@
(C) A T0FN & TFHEE 1a® ¥ a7as s § e =)

(D) =4 =EeEl ° §" STisT # ==9ER 24 91eT)

+r fou o fapedt § @ wE IR g

(1) (A). (B). (C) (2) (A, (B). (D)
(3) (B). (C). (D) 4) (A (C). (D)

Options :

53622818665. 1
53622818666. 2
53622818667. 3

53622818668. 4

Question Number : 92 Question Id : 5362284791 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

T AR, 1955 F FHEN Hefotad g oo ™ 2

(A)  Ta=t maffa Al S T S aTel W R, T AR 9 O AT
(B) =gz a9 9 30 9% WA % Ui faendi # B4 99 w0 4 =ien)
(C) T BORE = T=h19H HATaw © #(7ae AUS1 ° =6 =)

(D) S=9 =TI A HAE ST F1 SAdER BE 91ET]

= fau o et 5 ¥ TE I 9T

(1) {A). (B). (C) (2) (A). (B). (D)
(3) (B). (C). (D) 4) (A). (O (D)

Options :
53622818665. 1

53622818666. 2



53622818667. 3
53622818668. 4

Question Number : 93 Question Id : 5362284792 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

TR g AT = qZF F e = z

(A)  TEH IE-TET ZRT A Tl B R

»

(B)  UHE Tl TR AT GE daT 1 e

o~

(C) THATAT T3

d gl 51-:-14.-& + HH-0H mcﬁ:ﬁF TS 7 1_::1-—41;[

™

(D)  wem=riig gt T W T

e fou T foepeat 0 @ wE S g

(1) (A) 3T (B) (2) (B) 3T (C)
(3)  (A) FR(C) (4) (A) #=E (D)
Options :

53622818669. 1
53622818670. 2
53622818671. 3

53622818672. 4

Question Number : 93 Question Id : 5362284792 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



LI = WYL F AT o g T E

(A)  UTHE 9E-UET AT G SHEE w6 SEEE

(By  wEE i TFGfFI—HiHj_wTHch =T T T

(C)  Tmelten Tgfa grT gort % AFE-HH 1 gHF TEH aF Team

(D)  wEqEiE HETEE T T

Hr= f2u T e 8 @ wE T g
(1) (A) 31 (B) (2) (B) 3 (C)
(3) (A) 37 (C) (4) (A) 3 (D)

Options :

53622818669. 1
53622818670. 2
53622818671.3

53622818672. 4

Question Number : 94 Question Id : 5362284793 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

THEE W9 o SHER Heeiad 8 8 7R @5 % 9K H FE G ad @65 8 7
(A)  F FREI % WEd = JUFR I A TEF F AH HA 9

(B) I &2 7 foAre), faeon 31 o=ag 9|

(C) =8 3fad df==3 =1 Hard 2794 971
(D) I TEfeET BT gt ufhg 2

e fau o faepedt § @ wE S g

(1) (A). (B). (D) (2) (B), (C). (D)
(3) (A). (B). (C). (D) 4) (A).(C). (D)
Options:

53622818673. 1
53622818674. 2
53622818675. 3

53622818676. 4



Question Number : 94 Question Id : 5362284793 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

TR TEE % SER FAtaiad # # S gen % an § F6 O A w969 B e

(A) o FREHI % WEd =S TYFR S AE THG F THI B 9

(B) = =2 # foAE], HemEn Sk 9229 9|

(C) =9 39 dfa= =1 A a9 o)
(D) sl TEforEl s gt uiag

fa1 o o fawedt § @ oF IR 9fT

(1) (A). (B). (D) (2) (B). (C). (D)
(3) (A). (B). (C). (D) (4) (A (OC).(D)
Options :

53622818673. 1
53622818674. 2
53622818675. 3
53622818676. 4

Question Number : 95 Question Id : 5362284794 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

[

TSR % Had # FefetEd § ° 6 F 59T JE A ¢

(A) =1 T TR 6l RS

(B) = Fi wnfen v i T
(C) T F T AT

(D) AT +H ?FE{DT qT AigeT= E9 i =

Hr= fou U ferhedl § @ WA IE g
(1) (A) # (D) (2)  (A) 3 (C)
(3) (A) 3T (B) 4) (B) 3 (C)

Options :



53622818677. 1
53622818678. 2
53622818679. 3

53622818680. 4

Question Number : 95 Question Id : 5362284794 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

AT & Hag § HEfiEd § T i F T g6 8 7

(A) =1 SAIE TSR] = TR

(B) = Fi wnfen v i T
(C) O =l TUTALE FIE

(D) =9 = |91 A1 "o €9 F @

(1) (A) 31 (D) (LA ST (Y
(3) (A) 3T (B) (4m (B (C)
Options:

53622818677. 1
53622818678. 2
53622818679. 3

53622818680. 4

Question Number : 96 Question Id : 5362284795 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



(A) T w1 TE
(B) 3=
(C)  =dmom =i &1

(D)  =1iew T Fi AFE

1 G 1 e o B o e e 1 L

(1) (A) 37T (B) (2) (B) 3 (C)

(3) (B) 31T (D) (4) (C) =R (D)
Options :

53622818681. 1
53622818682. 2
53622818683. 3

53622818684. 4

Question Number : 96 Question Id : 5362284795 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
Foltraraia 1] g =d FarEr v
(A)  TE = A
(B) I
(C)  =HATam =i 21

(D)  smfeq T &1 985F

Frr fau o faedt § @ wE I gf

(1)  (A) 3 (B) (2) (B) 3R (C)

(3)  (B)#T (D) (4) (C) = (D)
Options :

53622818681. 1
53622818682. 2
53622818683. 3
53622818684. 4



Question Number : 97 Question Id : 5362284796 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

A9 =i U1 FEEl H TH B -

N

L.—II'L} ERE R
(B)  =wae 3] o0
(C)  =tedl Jramem

(D)  ¥E FEA

e fou TTu ool § © TR ST g

(1)  (A) 3T (B) (2) (B) 3T (C)
(3) (C) #7 (D) @) (A) 37 (D)
Options :

53622818685. 1
53622818686. 2
53622818687. 3

53622818688. 4

Question Number : 97 Question Id : 5362284796 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

TuTaTe i U] HEE F IE E -

-

(A) EHUNEE
e |
(C)  =red e

(D) @ FEA

= o T faseat § ® wE I 9T
(1) (A) 3T (B) (2) (B) 3R (C)
(3) (C) =1 (D) (4) (A) 31 (D)

Options :



53622818685. 1
53622818686. 2
53622818687. 3

53622818688. 4

Question Number : 98 Question Id : 5362284797 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

frefafes 5 | 91.ww. sfeme i T 7 -

(A)  =EH ws 9

(B) o é'—}-:?-:l?_:

(C) = AT =1% femi

(D) = a=es

= fau o faeat 2 @ @A I g

(1) (A) 31T (D) (2) (B) = (D)
(3)  (B) #(C) (4@ (Cpsit (D)
Options:

53622818689. 1
53622818690. 2
53622818691. 3

53622818692. 4

Question Number : 98 Question Id : 5362284797 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



(A)  @EH s U
(B) ZTEHES TS

(C) = AT 317 T

(D) 7 a=es

Hr= fau o faedt § @ wE I g

(1)  (A) W (D) (2) (B) # W (D)

(3)  (B) 37 (C) 4) (C) = (D)
Options:

53622818689. 1
53622818690. 2
53622818691. 3

53622818692. 4

Question Number : 99 Question Id : 5362284798 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

ST HHE AT F A B -

(A)  =3iFd T

(B)  Z@EATERA

(C)  HITFI3THm

(D)  HIA e

= fow o fasedt § @ wE ST g

(1) (A) 31 (B) (2) (B) 3 (C)
(3) (A) 37T (D) 4) (C) 3 (D)
Options :

53622818693. 1
53622818694. 2
53622818695. 3

53622818696. 4



Question Number : 99 Question Id : 5362284798 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

AT g % T AH F -

(A)  =afFa fTa=

(B)  F@rEATERa

(C) RIS

(D)  HIA faerw

= faw o fashedi © @ @A I 9T

(1) (A) 31T (B) (2) (B) 3 (C)
(3) (A) 3T (D) (4) (C) = (D)
Options :

53622818693. 1
53622818694. 2
53622818695. 3

53622818696. 4

Question Number : 100 Question Id : 5362284799 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
qFGETE] 39 = e FEfaiad § 3 FE-0 FeE wE R 7

(A)  UHE T & faEm i usel gfEe ey gremanr & o)

(B) TG TETH 1 e ai-999l 1 e 2

() OTa OOTH % 99 i oifam ot TaTSEE i =

(D)  sfie™ @99 @9a T S i Zedr Al

Hr= f2u U faepedt § ® @R I g
(1) (A) 3T (B) (2) (B) 3 (C)
(3) (A) 3T (C) (4) (B) 31 (D)

Options :



53622818697. 1
53622818698. 2
53622818699. 3

53622818700. 4

Question Number : 100 Question Id : 5362284799 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

AR 29 = AR Aeiiad 5 F FE-0 w99 96 8 7

(A) AT TFAT F S i Ueedl A9 A7 JrEne i

(B) THa 99T # Sae™ S -999] &1 SiaeE 2

(C) 99 99TH = faE =i A9 graet garsam =i 7|

(D)  sfie™ @99 @9a T S i Zedr Al

= o Tu famhedi § ® E@H 39 9T

(1) (A) 3T (B) (B FHIT (G
(3) (A) 31T (C) (DOm (By@it (D)
Options :

53622818697. 1
53622818698. 2
53622818699. 3

53622818700. 4

Question Number : 101 Question Id : 5362284800 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



faefefaa | 9 =i =5 smafs wre Hi ==
(A) EFERIGE

(B) HEMHERA

(C)  ¥"gd

(D) =TT

Hr fou U ol § ® TR I g

(1) (A) 3T (C) (2) (A) 3R (B)
(3)  (B) 3T (D) (4) (D) 3R (C)
Options:

53622818701. 1
53622818702. 2
53622818703. 3
53622818704. 4

Question Number : 101 Question Id : 5362284800 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

eAffEd 4§ #13 H ATF Fre H =90 2
(A) eEERIGED

(B) HaHTHRA

(C) AL

(D)  TETETEEE

= fauw T famedi § ® =E I 9T

(1) (A) 3 (C) (2) (A) 3R (B)
(3)  (B)#T (D) 4) (D) 3R (C)
Options :

53622818701. 1
53622818702. 2
53622818703. 3

53622818704. 4



Question Number : 102 Question Id : 5362284801 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

(A) g

(B)  sTagareaeal

(C)  =mearorerar

(D)  =UTEEA

i fam o oot § o wE T ge

(1) (A) 3T (C) (2) (A) 3 (B)
(3) (B) 31T (C) (4) (B) % (D)
Options:

53622818705. 1
53622818706. 2
53622818707. 3

53622818708. 4

Question Number : 102 Question Id : 5362284801 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

(A) g

-

(B) SiagaTcAal

(C)  wAreforar

(D)  TEETESH

= fau o fei § o w9 I g

(1) (A) 37T (C) (2)  (A) 317 (B)
(3)  (B) =T (C) 4) (B) 31 (D)

Options :



53622818705. 1
53622818706. 2
53622818707. 3

53622818708. 4

Question Number : 103 Question Id : 5362284802 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

ffetfiad § § #-H1 =T oEER #1965 e -

(A) ST
(B) diu=
(C) Tuem
(D) T\

= 3 T faweTt 8 5 T = T

(1)  (A) #T (B) (2) an(C) ATD)
(3) (B) 31T (C) (4w (D)t (B)
Options:

53622818709. 1
53622818710. 2
53622818711.3

53622818712. 4

Question Number : 103 Question Id : 5362284802 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



=feTiEga 8 o FH-H =AY SEEE $ 16w -

(A) T
(B)  9iu=
(C) Toem
(D) T\

= f2u U oot § | wE I gH

(1)  (A) 3T (B) (2) (C) 3R (D)
(3) (B) =1 (C) (4) (D) 31 (B)
Options :

53622818709. 1
53622818710. 2
53622818711. 3

53622818712. 4

Question Number : 104 Question Id : 5362284803 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
wroetfas fagy st faursm & I w smarfa o= 2 -

(A)  HATETT HEE

(B)  HEWI

(C) THH

(D) I3 =

#r feu o faweai 9§ o o 3w giu

(1) (A 3R (B) (2) (B) 3 (C)

(3)  (A)HE(C) (4) (C) 3 (D)
Options :

53622818713. 1
53622818714. 2
53622818715.3
53622818716. 4



Question Number : 104 Question Id : 5362284803 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
Hraerties fagy s faursm 6 med W aarfa 3r=mE 2 -

(A)  STET AErED

(B)  WETHIS
(C)  wuH
(D) 21 =4

= feu o famedi & wE 3w g

(1)  (A) 31 (B) (2) (B) 31 (C)
(3)  (A) 3 (C) (4) (C) 3R (D)
Options :

53622818713.1
53622818714. 2
53622818715. 3

53622818716. 4

Question Number : 105 Question Id : 5362284804 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

‘THE I F UH B -

(A) ETED
(B) fm=s
(C) &t
(D) e

= 3 o faweTt 5 5 T I T

(1) (A) #T (B) (2) (B) 3T (D)
(3) (B) #1T (C) 4) (A) 3 (D)

Options :



53622818717.1
53622818718. 2
53622818719. 3

53622818720. 4

Question Number : 105 Question Id : 5362284804 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

;FIEP:I. 1' A P2 ‘ﬁ = T:' =

(A)  FE
(B) f==
(Cy  =fram
(D) e

= 3 T faweTt 8§ T8 a T T

(1) (A) 3T (B) @) * By #(D)
(3) (B) =17 (C) (4) (A) 3 (D)
Options :

53622818717.1
53622818718. 2
53622818719. 3

53622818720. 4

Question Number : 106 Question Id : 5362284805 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



‘=] =T g A 39 TE -

(A) qE19715
(B)  #ATIE w2
(C)  3eqs

(D) a1

A= T30 U feRedt § @ @R 3w gH

(1) (A) 3T (C) (2) (B) 3 (C)
(3) (C) 1 (D) 4) (A) #R (B)
Options:

53622818721. 1
53622818722.2
53622818723. 3
53622818724. 4

Question Number : 106 Question Id : 5362284805 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

‘T WS g IEE 39 TH 7 -

(A) B EAE I
(B)  ATTH &2
(C) Ieqm

(D) a1

= T30 U feRed § ® @R IO gH

(1) (A) 31 (C) (2) (B) 3 (C)
(3) (C) 31 (D) 4) (A) 3R (B)
Options :

53622818721. 1
53622818722. 2
53622818723. 3

53622818724. 4



Question Number : 107 Question Id : 5362284806 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

ZeTy T g = FEE T F -

(A)  uHEE FEEE

(B) ™l o

(C) =gd 1 U A

.

(D) THohTHA

= 3 o faweTt 8 5 99 I T

(1)  (A) #:R(C) (2) (B) 3T (C)
(3) (C) #71T (A) @) (A) 3 (D)
Options :
53622818725. 1
53622818726. 2

53622818727. 3

53622818728. 4

Question Number : 107 Question Id : 5362284806 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

ZeATY Tom g =W FEE TR E -

(A)  oHER FEeE

(B) @l &

(C) =% 1 U &

.

(D THohTEA

= fau o et 8 @ @@ T g

(1) (A) F (C) (2)  (B) 3 (C)
(3) (C) 3T (A) (4) (A) 3T (D)

Options :



53622818725. 1
53622818726. 2
53622818727.3

53622818728. 4

Question Number : 108 Question Id : 5362284807 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

frefafEd 5 5 S-eFwn i FE-F = 27
(A) TATE @A
(B)  forn rami =1 =@

(Ch T 3

(D) Ermn|

=t fau o faeat 0 @ wF @ g

(1)  (B) 37 (C) (2) * (A) (D)
(3)  (B) ¥ (D) (4)  (A) 2R (B)
Options:

53622818729. 1
53622818730. 2
53622818731.3

53622818732. 4

Question Number : 108 Question Id : 5362284807 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



frfefiga 9 @ Sfi-aessn Fi FA-di = 27
&) TAT

B)  forn i 1

(C) v ==

(D) A9

Hr= f2u o fapeat § | @A I g

(1) (B) 3 (C) (2) (A) 3R (D)
{3) (B) 31t (D) (4) (A) 3T (B)
Options:

53622818729. 1
53622818730. 2
53622818731. 3

53622818732. 4

Question Number : 109 Question Id : 5362284808 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

TETA A2H T A F] GG FEEd 8 3 F A8 A

(A)  TEE-w i s e A 5 7w e % T W i A e o g

(B)  TWEE ¥H W Atad =T T 2|

(C)  TEearRTE 1 Al g 1 Hf 5 w2

(D) T A TF T A AAE F AE-SER § TH F e Fw

(1) === (A) #7 (B) (2)  #&E (B) #(C)
(3) = (A) # (D) (4) = (B) =it (D)
Options:

53622818733. 1
53622818734. 2
53622818735. 3

53622818736. 4



Question Number : 109 Question Id : 5362284808 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

TZTA TF ¥ A0 FI TaEea Fetangd 8§ -1 8 7

(A) TER-W Fi i AR forem = 99 7 791 o 2 e tﬁmnqr oz 71 o= S =
(B) wuZErl 9H W IiEd = T 2l
(C)  Wecarhia =i Hidl g =i #idt 3 = 2

(D) T AT THH F GG A o wAle- SN § gE e H

= fou o famedt @ & w1 I g

(1) a9 (A) #7(B) (2) #a (B) #T(C)
(3) A (A) F (D) (4) %= (B) ¥ (D)

Options :

53622818733. 1
53622818734. 2
53622818735.3

53622818736. 4

Question Number : 110 Question Id : 5362284809 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

TeEnfams T g o= ey =396 2

(A) Al # o
(B) a5 =1 999 T
(C) =g =i Fafq

(D)  FS =T F T FE

Hr= fau o faegt § @ @@ I gFHT
(1)  (A) 311 (C) (2) (B) 3 (C)
(3) (A) 371 (D) 4 (O 1 (D)

Options :



53622818737. 1
53622818738. 2
53622818739. 3

53622818740. 4

Question Number : 110 Question Id : 5362284809 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Terentame fax gro t=a ey 98 B

(A)  wfEE # foo

(B) T oo = T =%

(C) 3= #1 A

(D) T I F T3 FE H

= T3 T faegt 9§ T I 9T

(1) (A) 37T (C) 2 (B) I
(3)  (A) 3 (D) (4 (C)@ (D)
Options:

53622818737. 1
53622818738. 2
53622818739. 3

53622818740. 4

Question Number : 111 Question Id : 5362284810 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



AleTiEy 9 | 2fed AT 95 £ -
(A) 3T & 3T

(B)  To=a

(Cy ot fora R

(D) 1 9o 37 SfEE

= 5w o fomedt # | @F s g

(1) (A) #T (D) (2)  (B) #:E (C)

(3)  (A) 3R (B) (4) (A) #HT(C)
Options :

53622818741. 1
53622818742. 2
53622818743. 3

53622818744. 4

Question Number : 111 Question Id : 5362284810 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

fraferiiay 9 9 =foa steaar 425 & -

(A) 3 F A

(B) T4

(C) i forg #i =]

(D) o gt e gfs

Fr fau o fawedt § @ T I g

(1) (A 3T D) (2) (B) # (C)

(3) (A =T (B) (4) (A) 3 (C)
Options :

53622818741. 1
53622818742. 2
53622818743. 3
53622818744. 4



Question Number : 112 Question Id : 5362284811 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Tt gt e i v # -

(A)  EYaR &R A1 F B9 0 UHHaT ]

(B) TF :—':l!':H =+ OOFHH AT

(C) U= Efedi F1 AfFaEd: 790 F4

(D) TIOT YR = IUEAT

= f3u T faweTt § ° w@E I g

(1) (A) 7 (D) (2)  (A) 3 (C)
(3) (B) =1 (D) (4) (C) =T (D)
Options:

53622818745. 1
53622818746. 2
53622818747.3

53622818748. 4

Question Number : 112 Question Id : 5362284811 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

{A) SYa o] ATAE % &9 H YHEead e
(B) 9% = U % TEHE HEAT

(C) YT il =1 AamEd: T90 F

(D) =T YR i FUEAT

Fra fau o faedt § @ wE I g
(1) (A) 3 (D) (2)  (A) 3 (C)
(3) (B) #1 (D) (4) (C) 3 (D)

Options:



53622818745. 1
53622818746. 2
53622818747.3

53622818748. 4

Question Number : 113 Question Id : 5362284812 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

feAfiga 8 AN F F 7 S TH A7

(A) FaarT

(B) G

(C) AR

(D) T

= fau T faehedl § W TR S 9T

(1)  (A) #T (B) (2)m(B). AT L)
(3) (C) 31 (D) (4)m (Bt (D)
Options :

53622818749. 1
53622818750. 2
53622818751. 3

53622818752. 4

Question Number : 113 Question Id : 5362284812 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



fefefaa 4 & “se = vE 5 Fum AEa Ry

(A) AT
{ B} i

(C) HFTHER

(D)  TAWEM

= fau o faweat 9 @ TE I g

(1)  (A) #7 (B) (2) (B) 3 (C)
(3) (C) 3t (D) (4) (B) 3 (D)
Options :

53622818749. 1
53622818750. 2
53622818751.3

53622818752. 4

Question Number : 114 Question Id : 5362284813 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
FreAferiiad § & 79H1 wHE fgad) 1 = 7
(A) g mEE gaa S mHe
(B)  @Eca #1 99
(C) TSI o FTET

= 3w o fameat § § @ 3 g

(1)  (A) #T (B) (2) (B) # T (C)

(3)  (C) = (D) (4) (D) T (A)
Options :

53622818753. 1
53622818754. 2
53622818755. 3

53622818756. 4



Question Number : 114 Question Id : 5362284813 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Freferfiga § 9 =91 v fgadl & =am 2

(A) AT Aiecd T4 ST TeT
(B)  @rfeca =1 159
(C)  Hem=Te o9 BT

= 3w o fomweat # 5 @F = g

(1) (A) 3T (B) (2) (B) 3 (C)
(3) (C) 37 (D) (4) (D) 3R (A)
Options:

53622818753. 1
53622818754. 2
53622818755. 3

53622818756. 4

Question Number : 115 Question Id : 5362284814 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

(A) =T

(B) o=

(C) Bl

fD} 1-:"3 :!ﬂ

i fou T feepeai | @ wE S g

(1) (A) 311 (C) (2)  (A) 3 (B)
(3) (B) 311 (C) (4) (C) =R (D)

Options :



53622818757. 1
53622818758. 2
53622818759. 3

53622818760. 4

Question Number : 115 Question Id : 5362284814 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

METAngd 8 ¥ Mg S HHE-H J5F TR

Ay

?

(A) =T

(B) o=

(C) =0

fD} -;:" f

i fau o foepeai W wE S =T

(1) (A) 31T () (2)mm. (A) 33 (BS

(3)  (B) 3 (C) (4 (Cl#iT (D)
Options :

53622818757. 1
53622818758. 2
53622818759. 3

53622818760. 4

Question Number : 116 Question Id : 5362284815 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



g1 THI-1I
(A) T () 4=y
(B) ufyedt ==t (I) DTl
(C) gt ot (IIT) et
(D) Taer et (IV) =t
Fr= f3u T fasedt 4 | TE I 9

(1) (A)—(IV). (B) — (III). (C) — (II). (D) — (D)

(2) (A) — (I). (B) — (IV). (C) — (II). (D) — (II)
(3) (A)—(I). B) - (@O (C) — (IV). (D) — (III)
(4) (A)—(IIT). (B) — (II). (C) — (D). (D) — (IV)

Options:

53622818761. 1
53622818762. 2
53622818763. 3

53622818764. 4

Question Number : 116 Question Id : 5362284815 Question,Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

g=i-1 THI-1I
(A) TTEEIH () wr=gd
(B) afv=Hl et (II) BTl
(C) gt = (IIT) =ittt
(D) Tasr =i (IV) wrerdt
e fou o et 4 @ @d I g

(1) (A) —(IV), (B) — (II0). (C) — {II), (D) — (1)

(2) (A) — (D). (B) — (IV). (C) — (II). (D) — (II)
(3) Ay —(II). (B) — (I}, (C) — (IV). (D) — (III)
(4) (A)—(III). (B) — (II). (C) — (D). (D) — (IV)

Options :



53622818761. 1
53622818762. 2
53622818763. 3

53622818764. 4

Question Number : 117 Question Id : 5362284816 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
Frefafad wamert #8133t = & @ gafaq Fifag)

-1 TR~
(A) TAHE (I)  =FTeAE
(B) e (I1) o= =frem
(C) HaA (IIT) iz =
(D) WA (IV) o =ia
H= fau o, et ¥ § wE I g

(1) (A — (D). (B lENC) — (IITED) =V
(2) (A) — D). (By —A(I1I) (€) — IV (Dym=u()

(3) (A) — IDAB) — (IV).\ICH— I). (D) — ¢l
(4) (A — (I (B) — (D). C) — (IT). "9 ) 00 1¥

Options:

53622818765. 1
53622818766. 2
53622818767.3
53622818768. 4

Question Number : 117 Question Id : 5362284816 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



FrefeAtEa TETRRT w1 ST TSl T =519 gHie i

T=-1 T -11
(A) TAHE (L) =igre
(B) e (I} Term =re
(C) F=A (IIT) o= I
(D) TgAT (IV) g=H =ita
= f3u o faeat 9 | @ IR g

(1) (A)—(D. (B) — (II). (C) — (III). (D) — (IV)
(2) (A) —(II). (B) — (IIT). (C) — (IV). (D) — (D)

(3) (A) —(III). (B) — (IV). (C) — (I). (D) — (II)
(4) (A)-dV). (B) — D. () — d). (D) — dI)

Options :

53622818765. 1
53622818766. 2
53622818767.3

53622818768. 4

Question Number : 118 Question Id : 5362284817 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

ffafiga adieardt et #1 33 g % @y gafad firo

-1 H=1-11
(A)  Tagm (I) waTiE=aE
(B) FieET (II) =3
(C) F=H (III) =7
(D) ZEEETE (IV) FEEHeA 7a

(1) (AH)—D.B) — AV). (C) - @O. (D) — (ID
(2) (A)— (IV). (B) — III). (C) — {ID). (D) — (D)
(3) (A)—(D. B — dI). (C) — dI). (D) — (IV)
(4) (A) —(III). (B) — (II). (C) — (OIV). (D) — (D

Options :
53622818769. 1

53622818770. 2



53622818771.3

53622818772. 4

Question Number : 118 Question Id : 5362284817 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

feferfga wdiraral et 1 39 @R & @Y gHfed it

T=i-1 FHi-11
(A)  Tersm e (I)  =amia=gm
(B) HieE (II) =3
(C) == (IIT) ===
(D) == E (IV) Qa2 bd

= f2u o fawedt 8 | w8 I g

(1) (A —(II). B) — {IV). (C) — I). (D) — (ID
(2) (A) — (IV). (B) — (III). (C) — (II). (D) (I)

(3) (Ay— (D). (B) = (II). (C) (IIT). (D) (IV)
(4) (A) —(IIT). (B — (II). (C) — (IV). (D) = (I)

Options:

53622818769. 1
53622818770. 2
53622818771.3

53622818772. 4

Question Number : 119 Question Id : 5362284818 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



T 1 2 TS TEER S GuEshl ° gaieE i

-1 -1
(A) g F99 g1 (I)  wam Fw=m a3y
(B) &= w2 (II)y  =ren “ifameEm
(C) wm=Em (ITT) rdg ==
(D) e (IV) e "

e Tz o fopedi @ @ wE 3 g

(1) (A)— (1D, (B) — (). (C) — (II). (D) — (IV)
(2) (A) —(I)., (B) — (III}, (C) — (I). (D) — (IV)
(3) (A) — (III). (B) — (IV). (C) — (I). (D) — (ID
(4) (A)y—(II). (B) — (I). (C) (II1). (D) — (IV)

Options :

53622818773. 1
53622818774. 2
53622818775.3

53622818776. 4

Question Number : 119 Question Id : 5362284818 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
=11 § 2 T TEEme F I GUEE 3 gafed i)

-1 11
(A) =i =4 g1 (D) Tam TEEm 5y
(B) T&dl 95m (IT) == #ifameE
(C) =™ (IIT) wrdg =iw=g
(D) =amEA (IV) seTshoo Wg

(1) A —{D.B) — I, (©) — {dID). D) — (IV)
(2) (A)—(II). (B) — (III). (C) — (I). (D) — (IV)
(3) (A) — (IID). (B) — (IV). (C) — (I). (D) — (II)
(4) (A)— D). (B) — (I). (C) — (dII). (D) — (IV)

Options :
53622818773. 1

53622818774. 2



53622818775. 3

53622818776. 4

Question Number : 120 Question Id : 5362284819 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

Ftattaa = & 39% Fid @S & 919 IiTE'Ir_vI_rl_.d- GG AR

T=1-1 F-11
(A) T (I)  =rE=dl =40
(B) wmE (IT) =11 21 =1 ANY
(C) =17 (ITI) T&i & =1 3004
(D) TagaTa (IV) S3f Ta1 F1 q54H
Fra fau o fameat § @ wE I g

(1) (A) —(II). (B) — (IV). (C) — (I). (D) — (III)
(2) (A)—(D. (B) — (I). (C) — (IV). (D) — (III)
(3) (A) —(IV). (B) - (III}, (C) — (I1I), (D) — (I)
(4) (A) —(III). (B).— (IV). (C) — {II). (D) = (I}

Options :

53622818777. 1
53622818778. 2
53622818779. 3

53622818780. 4

Question Number : 120 Question Id : 5362284819 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



frafefan s & 9% Fe WUs F WY gafed i)

T=i-1 = -11
(A) T2 (I) =e=dl =41
(B) M= (II) == T3 7 30Y
(C) =17 (IIT) ™=l @41 =1 3G
(D) Tavary (IV) =31 5di =1 e

Hr= fou o fomret @ ® TE I 9T

(1) (A —(II). (B) — (IV). (C) — (I). (D) — (III)
(2) (A)—(I). (B) — dI). (C) — dAV). (D) — (1)
(3) (A) —(IV). (B)y — (IIT). (C) — (II). (D) — (D)
(4) (A) —(IID). (B) — (IV). (C) — (II)., (D) — (I)

Options :

53622818777. 1
53622818778. 2
53622818779.3

53622818780. 4

Question Number : 121 Question Id : 5362284820 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Te1-1 T=-11
(A) =9 Heq FT Jg =T 1 =T oAt = T (D) W
(B) =feta wiaq =1 A araiasharaA = e (II) ==Em = uTE
(C) WomE W IR F G IR 2 st FA o (D) T wnd T

(D) WeAT % AiEel SEEE § U O geEn #@E fmm (V) @9 5o
= fou o faeat A @ @A I g
(1) (A -@. (B) - ). (C) — ). (D) — (
(2) (A) - iII] (B) — (III), (C) — dV). (D) — ()
{ (
{ (

(3) (A) — (IV). (B) I, (C) — dh. D) —
(4) (A) —(III). (B) V), (C) =D, @O -

Options :
53622818781. 1

53622818782. 2



53622818783. 3

53622818784. 4

Question Number : 121 Question Id : 5362284820 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
-1 -1
(A) =9 HEA FAT Ig AT 1 A= At w o () e

(B) =feid S il A anataddrstt 1 faam (II) ==aEm i AEt
(C) USE WSS % aued R % A e i o (IID) ATt gg T
TER =

(D) TZAT % Oied SEEEl § 9 9 99EE #F T (V) 999 5o
= =Y I = =)

(1) (A —@. (B) — (@ma(C) — {I). (D) — (IV)
(2) (A) —(II). (B) — (III). (C) — (IV). (@) — (D)
(3) (A) — (IV). (B) = (III). (C) — (I). (D) — (D)
(4) (A) — (IID). (B) — (IV). (C) — (I). (D) — (II)

Options :

53622818781. 1
53622818782. 2
53622818783.3

53622818784. 4

Question Number : 122 Question Id : 5362284821 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



freAfeTtiaa et =1 376 909 faw + @y gafed fitao)

Teft-1 - 11
(A) g (I) i SET $i T
(B) i #Em (IT) = ==
(C) = gum (II) ==t aed
(D) TRHTHT I el (IV) wrfiaries 3920 SR At

= fau o et 9 @ TR I g

(1) (A) = (D). (B) — (II). (C) — (III). (D) — (IV)
(2) (A)—(II). (B) — (III), (C) — (I). (D) — (IV)
(3) (A)—(IID). (B) — (I). (C) — ). (D) — (IV)
(4) (A)—(IV). (B) — (III). (C) — (II). (D) — (I)

Options :

53622818785. 1
53622818786. 2
53622818787.3

53622818788. 4

Question Number : 122 Question Id : 5362284821 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
feferitaa e =1 37 a3 &9 % a1y qaterd i)

-1 = -11
(A) aTTH (1) A 7E =T FFwEE
(B) i =uH (I) = ==
(C) =T 3um (IIT) ST aed
(D) THTHT I el (IV) wifiaries 39 R St
= fau o et 9 @ T I g
(1) (Ay—(D. (B) — (II). (C) — (III). (D) — (IV)
(2) (4) -, (B) — dI), (C) — O. [D) — @v)
(3) (A) —(III). (B) — (D). (C) — (1), (D) — (IV)
(4) (A) —(IV). (B) — (III}. (C) — (II). (D) — (D)
Options :

53622818785. 1
53622818786. 2

53622818787. 3



53622818788. 4

Question Number : 123 Question Id : 5362284822 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

il H # T FaA] T AR SAGRH & Y '.EETI'TFF-[ Hifsm)

T=1-1 T=-11
(A)  3TFHT Tl (I) o=t gom
(B) T (IT) Ag FHiE
(C) H&d o m (IIL) =Friemy 70
(D) it (IV) =91 @a
F fow o foedl § & WA R g
(1) (A)— (D). (B) — I). (C) — (II). (D) — (IV)
(2) (A)—I). (B) — V). (C) — ). D) - {II)
(3) (A)—(IV). (B) — (D). (C) — (II). (D) — (III)

(4) (A) —(IID). (B) —D. (C) — (IV). (D) (IT)

Options :

53622818789. 1
53622818790. 2
53622818791.3
53622818792. 4

Question Number : 123 Question Id : 5362284822 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



T 17 21 T2 HieAl 1 SAH A@HAT F JY FGHI HiT0)|

T=1-1 TH-11
(A)  3TEHE Tl () e g
(B) Te=rean (II) =g FHEn
(C) TaEd A (II) e
(D) =T (IV) w91 @ae
Hr= fou o fameat @ @ E I 9w
(1) (A)—(II). (B) — (I). (C) — (II). (D) — (IV)
(2) (A)—(I). (B) — (IV). (C) — (II). (D) — (IID)
(3) (A)—(IV). (B) — (I). (C) — {II). (D) — (III)
(4) (A)— (). B) — I). (C) — IV). (D) — (ID)

Options :

53622818789. 1
53622818790. 2
53622818791.3

53622818792. 4

Question Number : 124 Question Id : 5362284823 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
‘wgr o fefatad T w1 S T i e F @ gEtad St

g1 TI-1I
A) T 0 it vt
(B)  =A7deym (II) =9
(C) === (IIT) =emIE
(D) Tz (IV) AT & Afeehd q259
At fo o fepedl @ wA v R ;
(1) (A) —(II). (B) — (I). (C) — (IV). (D) — (III)
(2) (A)— (D). (B) — (II). (C) — (III). (D) — (IV)
(3) (A) —(IIL). (B) — (I). (C) — (IV). (D) — (I)
(4) (A) —(IV). (B) — (II). (C) — (III). (D) — (I)

Options :
53622818793. 1

53622818794. 2



53622818795. 3

53622818796. 4

Question Number : 124 Question Id : 5362284823 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

‘samgn % faafafad ot # sh vgg =i et % wmy gafaa Fif)

-1 Tehi-11
(A) TIg (I) T Uiatea®
(B) Tvaeum (I1) ==
(C) == (III) Teama!
(D) Tz (IV) FHeF § afvhd qeed
Hr fou o fommeat § @ T I g

(1) Ay —ID), @) — q)y (C)— ({@IV); @) —(
(2) (A)—(I). (B) — (II). (C) — (III). (D) — (IV)
(3) (A)—(IIT). (B) — (D). (C) — (IV)..{D) —(
(4) (A) —(IV). (B}~ D). (C) — (IID. (D) — (D

Options :

53622818793. 1
53622818794. 2
53622818795. 3

53622818796. 4

Question Number : 125 Question Id : 5362284824 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



frefefaa Fiar 1 39 THEE a9 & 9N W Al Hiiaw)

T=-1 TE-11
(A) FARET (D 1935
(B) =g (II) 1964
(C) WA |RA (IIT) 1925
(D) Teermn (IV) 1912
Hr= f2u o fawegt @ | @@ I g

(1) (A — D). (B) — II), (C) — IOIvV). (D) — @D

(2) (A) —(III). (B) — (). (C) — {II). (D) — (IV)
(3) (A) —(IV). (B) — I). (C) — (D). (D) — (II)
(4) (A) —(II). (B) — (D). (C) — (III). (D) — (IV)

Options :

53622818797. 1
53622818798. 2
53622818799. 3

53622818800. 4

Question Number : 125 Question Id : 5362284824 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

fefeTiiaa Fieal Fi 3H THEH 99 F ATER W HEd Hir|

T=1-1 THE-11
(A) =RET (D 1935
(B)y =19 (II) 1964
(C) |WA |RHA (IIT) 1925
(D) Teermn (IV) 1912
Hr= fou o fasedt § @ E I 9T

(1) (A — D). (B) — (III), (C) — OIV). (D) — (D

(2) (A) —III). (B) — (I)., (C) — {II). (D) — (IV)
(3) (A) —(IV). (B) — (II). (C) — (). (D) — (II)
(4) (A) —(II). (B) — (I). (C) — (II). (D) — (IV)

Options :
53622818797. 1

53622818798. 2



53622818799. 3

53622818800. 4

Question Number : 126 Question Id : 5362284825 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

fFeferfiga wrret =1 fasm = 3% %0 °§ sEiean i)

(A) I

(B) "=l WEA
(C) = =
(D) i =

= f3u v fomedt § 5 @& s g

(1) (A). (B). (C). (D) (2) (B). (A), D). (C)
(3) (D). (A). (B). (C) ) (C), (A). B). (D)
Options :

53622818801. 1
53622818802. 2
53622818803. 3

53622818804. 4

Question Number : 126 Question Id : 5362284825 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



frforfigd a9t & 9 % 3% #A § saiedd Hifan
(A) il
(B)  T=eil UThA
(C)  =aumH &=
(D) E E=E

Hr= fau o et § @ @ I g

(1) (A). (B). (C). (D) 2y (B), (4). D), (O
(3) (D). (A). (B). (C) 4) (C). (A). (B) (D)
Options :

53622818801. 1
53622818802. 2
53622818803. 3

53622818804. 4

Question Number : 127 Question Id : 5362284826 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

(A) I gE

(B)  oATcH=cAl & faug

(C) F9 7d Fa fafzt

(D) =51 =4 Feal =40

= fou o fopeat § @ wE I 9T

(1) (A4). (C), (B). (D) 2y (A), (D). (C). (B
(3) (B). (D). (A), (O) @ (O, (A, (B). (D)
Options :

53622818805. 1
53622818806. 2
53622818807. 3
53622818808. 4



Question Number : 127 Question Id : 5362284826 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

TR TEE F Fiad] TOE W THEE a9 F TTEE TR 2
(A) TN ™

(B) ATTHEAT F E L

(C) =9 7 T3 =zt

(D) =i =91 Fedt =4

S fam U el § W wE I g

(1) (A). (C). (B). (D) (2) (A). (D). (C). (B)
(3) (B). (D). (A). (C) 4 (C) (A (B), (D)
Options:

53622818805. 1
53622818806. 2
53622818807. 3
53622818808. 4

Question Number : 128 Question Id : 5362284827 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

TRTIH T F AR Ffaiad FEEl T w5 -
::‘1} .J-:l:; 3" :'1 F|_ﬁ

(B) THWE 99 #1 T

(C)  w Zrdl w fag

(D) T i 1.'1_.%‘"_"

Frat fau o fawedt 9 @ wE 9 g
(1) (A). (B). (C). (D) (2) (©). (D). (B). (A)
(3) (D). (C). (B). (A) 4y (B, (A). ). (O)

Options :



53622818809. 1
53622818810. 2
53622818811. 3

53622818812. 4

Question Number : 128 Question Id : 5362284827 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
(A) e =
(B) TARE 99 F T
(C) vF =zl W g
(D)  wm F g

e fou o faeredt § @ gl I T

(1) (A). (B). (C), (D) (2) (C). (D, (B). (&)
(3) (D). (C). (B). (A) (1) (B)ly (A)giD). (C)
Options:

53622818809. 1
53622818810. 2
53622818811. 3

53622818812. 4

Question Number : 129 Question Id : 5362284828 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



TR T i 3§ FEAfAtEd FEar-muE w1 5E S99 2

-

(A) TEHEA

(B) E

(C) T

(D) TS

= feu o famhedi § ® @E ST g

(1) (B). (C). (D). (A) (2) (A), (B), (C). D)
(3) (C). (A). (B). (D) (4) (B). (D). (A). (O)
Options :

53622818813. 1
53622818814. 2
53622818815. 3

53622818816. 4

Question Number : 129 Question Id : 5362284828 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

THEH 79 F1 32 T g Faa-aE Dhel S el

-

(A) TEHA

(B) GES

(C) T

(D)  FuEmE

e feu o faehedi § @ @E 3 g

(1) (B). (C). (D). (A) (2) (A, (B). (C). (D)
(3) (C). (A). (B), (D) (4) (B). (D). (A). (O)
Options :

53622818813. 1
53622818814. 2
53622818815. 3

53622818816. 4



Question Number : 130 Question Id : 5362284829 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
g T A= 1 599 99 % ST 9 95 F9 2

(A) Tl ETE.E

(B)  HfeATE 3 W
(C)  ERAA ZoW FieAs

(D) oE.u. f=Em

= feu T fashedi § @ EE S g

(1) (B). (C). (A). (D) (2) (C), (B). (D). (A)
(3) (D). (C). (A). (B) (4) (A). (B). (C). (D)
Options :

53622818817. 1
53622818818. 2
53622818819. 3

53622818820. 4

Question Number : 130 Question Id : 5362284829 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

Tfetiad qTaTes A=l & I 99 % YR W 951 @0 21
(A) e =nd

(B)  HfEIS g W

(C)  THHA Zol FieAls

(D) s f=Em

= 3w o faweat 9 & 98 5 g

(1) (B). (C). (A). (D) (2) (OC). (B). (D). (A)
(3 (D). (C). (A). (B) (4 (A, (B). (C). (I
Options :

53622818817. 1



53622818818. 2
53622818819. 3

53622818820. 4

Question Number : 131 Question Id : 5362284830 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

TERITH T = SIER g SIETE 5 TA AT o

(A) =T few
(B) TEm s

{C) HETA]

(D) ==l S3E 6 FaEE

H= fau o fepRedi § @ wE IE g

(1) (D). (A). (C). (B) 2) (&), B). (C). (D
(3) (B). (C). (D). (A) =2 = VN @)1 &) &
Options :

53622818821. 1
53622818822. 2
53622818823. 3

53622818824. 4

Question Number : 131 Question Id : 5362284830 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



(A) =T few
(B) TwEE g

(C) A
(D) =T S3E i wEE

W fou o faemedt § @ wE S g

(1) (D). (A). (C). (B) (2 (A), (B). (C), (D)
(3) (B). (C). (DY, (A) (4) (C). (D). (A). (B)
Options :

53622818821. 1
53622818822. 2
53622818823. 3

53622818824. 4

Question Number : 132 Question Id : 5362284831 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

g forrrm 1 32 & STORIT 3 SR T EE

(A)  FE TH

(B)  SATEU™T T AGEA

(C) ¥+ 34

(D)  TERT F1 7Y

(E)y 9= v= Hiu+ ez

e f2u Tu famwedt 9 ° @A I g

(1) (A). (B). (C), (D). (E) (2) (A), (C). (D). (B), (E)

(3) (A). (C). (B), (D). (E) (4) (A), (D). (C). (E), (B)
Options :

53622818825. 1
53622818826. 2
53622818827. 3



53622818828. 4

Question Number : 132 Question Id : 5362284831 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

g T i 3 & 19w % T 1 e F 2
(A) =i T

(B)  HATACUTI HT AGHA

(C) 99 1 339

(D) TITUR 1 Y

(E)  fasm: o i sfereed

W= fau o ferRedi ® ® wE IR gR

(1) (A). (B). (C), (D). (E) (2) (A), (C). (D). (B), (E)

(3) (A). (C). (B). (D). (E) 4y (A). (D). (C). (E). (B
Options :

53622818825. 1
53622818826. 2
53622818827. 3

53622818828. 4

Question Number : 133 Question Id : 5362284832 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



FHEHTA & FFEE FEfatEd Farasnl #1 98 #9 2|

(A)  THIE S

(B)  Afem faetraa vmi

(Cy  THfgwTE vmi

(D) & gerr Ars

Fr= feu u fasei 9 4 |81 39 FfFU

(1) @A), D). (), (B 2) (A, (B), (©). D)
3) (B, (©). (D), 4 4 (©), D). (W, B
Options:

53622818829. 1
53622818830. 2
53622818831. 3

53622818832. 4

Question Number : 133 Question Id : 5362284832 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
FHFTEA & FATER (FAfafga fHa-a®nl &1 a8t %y 21

(A)  TEgE d

(B)  HfeM faerr=q v

(C)  THfg@™ vmi

(D) 72 geri arsr

19 fou o foeredi B @ W I AR

(1) (A, D). (). (B) @) @, B. ©). D)
(3) (B). (C). (D), (&) (4) (C), (D). (A)., (B)
Options :

53622818829. 1
53622818830. 2
53622818831. 3

53622818832. 4



Question Number : 134 Question Id : 5362284833 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

R o 1 frefatas Far 5 e 99 F 3§ TE A9E0 1 =Eegd i

(A)  T551 % T & aToger & 3
(B)  “hiamT = T8 Wi
iC} = 'E":ia:

(D) i W i '

et fau o feepei | ® wE 3 g

(1) (D). (C), (B)., (&) (2) (A), (B), (C), (D)
(3) (B), (4). {€), (D) 4) (A). (C). (B (D)
Options :

53622818833. 1
53622818834. 2
53622818835. 3

53622818836. 4

Question Number : 134 Question Id : 5362284833 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
R e 1 fefetas Fiaar i THEE 99 F g 3 TE ATHT 1 SHategd S|

(A) = fawm g sygm w5 g
(B)  Hfadl = 99 WfaEH
(C) BIRIEIE

(D) =& o i m
f= o o faFel | § w9E I 9w

(1) (D). (C), (B). (A4) (2) (A), (B), (C), (D)
(3) (B). (A4). (C), (D) (4) (A). (C). (B). (D)

Options:



53622818833. 1
53622818834. 2
53622818835. 3

53622818836. 4

Question Number : 135 Question Id : 5362284834 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

I T9 F AT Fefaiad FaH TUEl F1 Tel F9 "9ars0 -

'::'I'.\.} = Cc'_ 1
(B) T et
(C)  w=h 3R Taami

D) TEEEE

Frt fau o faedt § @ T I g

(1) (B). (C). (D) (A) P (310 (B TC1A (D
(3) (D). (C). (B). (A) (4) (C). (A). (D). (B)
Options :

53622818837. 1
53622818838. 2
53622818839. 3

53622818840. 4

Question Number : 135 Question Id : 5362284834 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



(A) a1Ed
(B) T e

(C) w3 Tami
(D) =EiEa?
= 3w o fomeat § § @ 3 g
(1) (B). (C). (D). (&) (2) (A (B). (C). (D)
(3) (D). (C). (B). (A) 4y (C). (A). (D). (B)
Options :
53622818837. 1
53622818838. 2
53622818839. 3
53622818840. 4

Question Number : 136 Question Id : 5362284835 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
f @1 Fom fam m E
F 1 : HiEcd § = B TH0 2
F9A I : =0 Afacd i TOE THE FH F 0 s afaamn i sEvasa w69 2

UG HUAT F AR B G Ghed § ° Jal 3 g1
(1)  FoA 1 &% 11 291 731 &
(2) = I i I A e
(3) F 1A 7, g FF 11 1o 2
(4) w1 39 7, g e 1L 7
Options :
53622818841. 1
53622818842. 2
53622818843. 3
53622818844. 4



Question Number : 136 Question Id : 5362284835 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
ﬁ%ﬁéTquﬁﬁﬁﬂﬁﬁ:
FH 1 : Tieca § & 7 T 2

IFd FUAT F AT § AR e § 8 w8 35
(1)  FoA1 @m I 3 = &
(2) @A [ 3 [0 3M e =
(3) FH 1A 7, g 5 11 1o 2
(4) w1 99 7, g a1 7
Options:
53622818841. 1
53622818842. 2
53622818843. 3

53622818844. 4

Question Number : 137 Question Id : 5362284836 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

F=r 31 Fyq fao o 2

FoA I : E-TaHe F 78R S Fad HSEE s 2

FoA 11 : 799 TToaF =Iaw T % =aidaed 317 == 1 5= 76 w0 a6l

T HUAT F HAAE H AT [9eal § § TR 3 9|
(1) =9 I & I 391 &9 =

(2) = I 3 11 SF1 el =

(3) F 1T 7, g F99 10 7o 7

(4) w1 3787 7, Thg e 11 &8 2

Options :



53622818845. 1
53622818846. 2
53622818847. 3

53622818848. 4

Question Number : 137 Question Id : 5362284836 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

= =1 Fue fau T E

FoA 1 : Sh-fomel % 98 =i Fae Ao s 2|

F9A I1 : TI9 TTeaF e S = =AfFacd 317 f==n) &1 e T5 0 T

TUFT FUAT F AT § T e 8 ° T8 I 9

(1) w94 I =1 II =H1 921 7

(2)  Fya I 31k I 2] 7o &

(3) FoA I o7 7, g %90 II 774 =
(4) =9 I 58T 7, g ®9F 11 &8 7
Options :

53622818845. 1
53622818846. 2
53622818847. 3

53622818848. 4

Question Number : 138 Question Id : 5362284837 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



= a1 o fqm o #
TTT (A) : FO AqfFd w1 I F SR H F9E 2

i

7% (R) : EHﬂFﬂLEH‘ETq“ﬁ@ma'IFFHﬁ'ﬂqfifFﬂ%ﬂ

ITIT FA F TR § TR e § § s w3 99
(1) (A == (R) T&a
(2) (A) 7= (R) TR
(3)  (A) 30 (R) 3H1 Ta
(4)  (A) I (R) 2F1 T2
Options :
53622818849. 1
53622818850. 2
53622818851. 3

53622818852. 4

Question Number : 138 Question Id : 5362284837 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0
ﬁ%ﬁ?ﬁfﬁaqiﬁﬁ’ﬂlg
AT (A) : FO Aqfad w1 g F Sewd H Z9E 2

£

FF (R) : THIIU I8 T YOS Ivo9 @ ° 740 7

YA FUAT F AT § A el O W gaEtes I 36 9|
(1) (A ==t (R) 7Tema
(2) (A) T (R) TR
(3) (A 3 (R) 2A1 TeAd
(4) (A) 3T (R) 24T 921
Options :
53622818849. 1
53622818850. 2

53622818851. 3



53622818852. 4

Question Number : 139 Question Id : 5362284838 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

= 31 A faw o 2

FHIL . TEAER FIN = = e B

F7 I1 : TG T SR 991 21 SEEE § S50 A== H SA9E =41 |

I9GFd FUAT F AATE § FIEd e O 8 wE 39 g |
(1)  FA I =11 II 341 9= =

(2)  wuA [ 3R I 241 7o &

(3  F 1T 2, g Fo 17 7
(4 FoF L o 7, g o I oA =
Options :

53622818853. 1
53622818854. 2
53622818855. 3
53622818856. 4

Question Number : 139 Question Id : 5362284838 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



H= 21 v 3T T E

FA 1 : TEERE FIR T = F 2

FYA I : 7 ATaFer 2R G191 7 SEEE 375000 STesH F S AEW &= )

IUTd FUAI F ATAE H HEATHT ST § F Ha I g
(1) =94 I 31k I 21 =81 7
(2) A I 3 II 341 7= 2
(3) w15 2, g %97 I 7T 2
(4) w9 I 3m@ea 7, Tohg %o 11 w90 2
Options :
53622818853. 1
53622818854. 2
53622818855. 3

53622818856. 4

Question Number : 140 Question Id : 5362284839 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

= 2 YA B o #

TUTGAT (A) : 1A I A (AR Sfad T8 ST 59 & 7 e 2|

TF (R)  : T4 FA W F5ME &9 979 7|

IUGFI FAA F ATATE § AIEA Fed 0 ° T 39 9
(1) (A== (R) Tem
(2) (A) Ted (R) 9#1
(3)  (A) 3 (R) =1 w#l
(4)  (A) # (R) FE T
Options:
53622818857. 1
53622818858. 2

53622818859. 3



53622818860. 4

Question Number : 140 Question Id : 5362284839 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

= =1 FuE 8 T E

TTAT (A) : 1T o AT (1912 =aiad 981 919 59 21 7 Gl 2|

7* (R) ;. FF FG T F5E @G99 574 7|

S FUET AT | SR e § 9w I A

(1) (A =& (R) e

(2) (A) T4 (R) T2

(3)  (A) 3 (R) =1 w#l

(4)  (A) ¥ (R) FHT T4
Options:

53622818857. 1
53622818858. 2
53622818859. 3
53622818860. 4

Sub-Section Number : 2
Sub-Section Id : 536228192
Question Shuffling Allowed : Yes

Question Id : 5362284840 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (141 to 145)

Question Label : Comprehension



fam « fefeifiag samm F1 SAHEF 9fau S 05 T 01 ¥ 05 9 F WA F I (08 T fawewi 4 7

T

-.-

“FTE AT TR T AN WA T T 3| AT 39 4 S 3| 2 ° Fer AW
sl 7| T T fawrE, e o B9 SER TN Ui B SE TR B, S A e 4 o) el
T 7 e § YW a7 79 99 A 6 W Fe F1 AW A T a6 T 36| W
% AT W FE FE UGN 2| I U Y G A UG 7 T g T, 3, 9, F, g A e
T FH F T FE T 2 6 A S T A SR A F T e e
T A T A F A 55 § T A A U F A A o e A

Sub questions

Question Number : 141 Question Id : 5362284841 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

IF AT § FUTE R e 2

(1) o0 =+ FK AERvHE 599 T8 7|

(2)  ToqER-=EE % s | SRR JEE 7
(3)  TaumEs =R e 3T EE F S a2 2
(4)  fawes =mw % 9 o eyl = a2
Options :

53622818861. 1

53622818862. 2

53622818863. 3
53622818864. 4

Question Number : 142 Question Id : 5362284842 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



3 FTET H wafad =5 2 TR

(1)  =E® 19 2|

(2)  E® ATHEEEE 2

(3)  =Ew a2

(4)  E® FAEE E
Options :
53622818865. 1
53622818866. 2
53622818867. 3

53622818868. 4

Question Number : 143 Question Id : 5362284843 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

I AGH § T =9 6 -

(1) 9= =I9R % Hecd Fil Tias2l =1 T3

(2)  =oUET % Hacd i el TS 2|
(4) FAFR 1 = Fyifa f o #)
Options :

53622818869. 1
53622818870. 2
53622818871. 3
53622818872. 4

Question Number : 144 Question Id : 5362284844 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



T T EE g FH U5 7 (AR g T, AW, A, F, P AR S R R R A
Al 2 6 v ot e w1 ae i

(1)  Trm 8 T e 6 = i 2

(2) TR B QAT F WEed T 6 T

(3) TR F FiH P gEE A o

(4) TR B A1 F S0 F AR Gehd B 2
Options :
53622818873. 1
53622818874. 2
53622818875. 3

53622818876. 4

Question Number : 145 Question Id : 5362284845 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

A S F R A A A ST T RS e RN eel T A 7 U
TIE] B A W A A A 2| A -

(1) =7 523 i =0l $1 3% Fha 6

(2)  Fa-7E Fi T #1 A T

(3) T % F[ed F TG [ A

Options :

53622818877. 1

53622818878. 2

53622818879. 3

53622818880. 4



Question Id : 5362284840 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (141 to 145)
Question Label : Comprehension
fiam « il s F1 S Tlgu S 05 FE 91 § 05 9 % WA F I {07 T e 4 3

|

“FE AR e A AT U 0 W 7| AFFR 36 66 EET 3| 39 0 wer # FW

Tzar 2| fam vn fawm, swE o = su T i o TR w9, I A e | o) et

™ A A § TH T 7 7 T G 0 A FH F O A 2 T A G TE 37 W
IR TS F A T AR SR 2 FA FO9H FE 49 96 A W TR T Iy 3 vt g
ST F T TAF [ F A A A TG AT 7 UH ] A A0 A A HG |

Sub questions

Question Number : 141 Question Id : 5362284841 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

I FIa § Ty e e E
(1) o991 & o9 GIURvi=RoT G99 751 2|

(2)  fauET-=amr % 9 o gremeien 9T E

(3) TaY9Es =R Aeea dJR1 T899 F §" 75 2
(4)  TawEA =R F TR 6 wEyE w w2

Options :
53622818861. 1
53622818862. 2

53622818863. 3



53622818864. 4

Question Number : 142 Question Id : 5362284842 Question Type

Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

I I H SHE 7T TR

(1)  =E® 99 2|

(2) TE® ATFREAE] 2|

(3) E® Wael 2

(4)  =EE FEEE R
Options :
53622818865. 1
53622818866. 2
53622818867.3

53622818868. 4

Question Number : 143 Question Id : 5362284843 Question Type

Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

I AT H g 'Y H -

(1) a9/ =9 % 920 =1 a3 i 7 2]
(2) U1+ HEcd i Tiaea1 =i TS 7

(3) sA74fa 1 =aasar i afqesr $ E 2|

(4) HAAFR il Him Fuiia = 1 2
Options:
53622818869. 1
53622818870. 2
53622818871. 3

: MCQ Option Shuffling : No

: MCQ Option Shuffling : No



53622818872. 4

Question Number : 144 Question Id : 5362284844 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

T 2 6 e o o el T A

(1)  TrFa 8 Tl gar 1 =en # E 2

() TERRR B TR H AR @ o T A

(3) SRR B g HH Fl e o 7 2

(4) TR @ AT % SAed 1 AT Hehd A T 7
Options :
53622818873. 1
53622818874. 2
53622818875. 3

53622818876. 4

Question Number : 145 Question Id : 5362284845 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0

"t IR i S F R T S F A I e A A 5 6 T A A
TEET F A0 T H A g 2| A -

(1) o 239 %1 =00l #1 9% 55 T T 2|

(2)  Wfa-gea 1 fafomzar F1 A G R =

(3) W % aca i T@Ihd AT T R

(4) % At A it

Options :



53622818877. 1
53622818878. 2

53622818879. 3

53622818880. 4

Sub-Section Number : 3
Sub-Section Id : 536228193
Question Shuffling Allowed : Yes

Question Id : 5362284846 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (146 to 150)

Question Label : Comprehension

3w « Ffeifian sramn i SAFgEE vier S 079 A 96 T 100 9 F T % I f3u T fawe @
)

Ttz 1 G H1 21 A A ) T e g, S A, - A
FAI M A 1 e B e e e e e B e e e R B
ufifefd & T =fe-oia & wy wue & T o T 9 F I gl e e
F F A AF AE WE-T9H 7 T 9EE-F9 FE-T9E S T A G SRE-a W
T 76 T 7, T T9E AFE-T W 6 05 6 T | S F O TR e 99 A |
Tiawte B 2, Al Wi A 4ae A G w B S aR e fon 9 S S A e g w0
e A T % TG = g -9 &9 % 31avd YIad 21 2| A9E-0 % T
o S F el e @ Wi a9 6 6w § 9w w2 -0 8 9 . ad-0
TS F -1 T YA A 7, TA S AR F e A0 2| Wi F A i, 59 e
T F1 UF 7 AFEE 7 T4 £, 6 9% WS TA ¢ 76 S 91 % wy, wiEe i o
% W1, 36 ffas T £ @

Sub questions

Question Number : 146 Question Id : 5362284847 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



TUF ATEEE AN T HEEd § F FA 6 R we 2

(1) 999 F1 A=A Fui Faq 9 qHmeg T 2|

(2) A F I G § A S G W WO F E ) G == 0 w6 g

(3)  Tfeca F1 AHCE F W 2 T T AEE T T4
(4)  TEe AE-SEE F TE-3E § A T A
Options :
53622818881. 1
53622818882. 2
53622818883. 3

53622818884. 4

Question Number : 147 Question Id : 5362284848 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

TRI HTEHE I W TTER w1 IS 1 o A A g

(1)  Eq-59Eal 3 {6 aragaed
(2)  ua SfEa =6 w8 atyeie
(3) AT T = HIAEFH
(4) HArefta Sga a wAfige ifad &1 go-gw § e  gm
Options :
53622818885. 1
53622818886. 2
53622818887. 3
53622818888. 4

Question Number : 148 Question Id : 5362284849 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



9T Fmae § TGN W AeiEd 8 ° Faiias ahwdn H

(1) = =1 wiasie s=E
(2)  ft=a = g@r =i 3

(3)  H5% 70 IU9RE A 2

(4)  =afe sk gafe =1 s
Options :
53622818889. 1
53622818890. 2
53622818891. 3

53622818892. 4

Question Number : 149 Question Id : 5362284850 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

T =D o SER W Heenad # J F -3 9 TE T8 7 ¢

(1) A Sad % @9 T Seadl 893 Tifecd #l 9Fs £

(2)  HEITTH UEET HEE-AT i THIEGE Fa 7

(3) T F gAZ Sfi=q 0% =9 Sfe9 F dmmEg T6 Fd 2|

(4) TG SEE T # g = A
Options :
53622818893. 1
53622818894. 2
53622818895. 3

53622818896. 4

Question Number : 150 Question Id : 5362284851 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0



dl'-lf-_iurﬂ -Hjm}d, % YN T NG 5 H Hiieed =i S 5 Hel F 2|

(1) == SEa # w9 3h
(2)  ENEI-ATE g = W IEE
(4) =t == F1 gt

Options :

53622818897. 1

53622818898. 2

53622818899. 3

53622818900. 4

Question Id : 5362284846 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (146 to 150)

Question Label : Comprehension

frem « ffeifian st i SARgET vier SR W99 Fe 96 100 76 = 5ol o g fer T faen 8
g

Tifecd F 97 AW 7 7 T F A A F A F E-T, A- A, TIE-T5 A

A=A FMfeed A A 2| B B AR - gt A g g 7| g7 i =ie-a & 9
Tl % 0 T T U9 g Jed] T 2 SR e UeeEEy 39 S S 1 R T s

= T 2, T AW A B F A T OANEE A Y w8 T O 96 e 6 A
ufifeufd @ T =fe-dia & wy wue & T o I 9 % T S gl S e FE
F F A AE FEA TA-TGH 7 A G0-39 F-T9H 9 T E| F6 AT WA
T 7 T 7, I 09 AFE-T W 6 0 6 T | e F 9 TiEd 99 A |
wferwterd 21 2, @ Aot § S ) A A & o 98 F o SO S A 2| T 7 A 4B
Teed A 1 F W f=mt g ff-3-FE =9 8 v Ta0im 26 2 9T F T w6
T S F w fama € wiele s 6 A @l I i 2 - ek 9 9
T % TH-T T WA F A, TH TH A g FA 2| Wi F A #, 30 9
Tz F1 UF 7 HHEUS 7 OFA] ¢, F 97 9FES 791 ¢ fF SE A # wy, afge i dow-am

W1, IEH S T 2 @

Sub questions



Question Number : 146 Question Id : 5362284847 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

TUF ATEE o AR T a8 @ Fi 6 R wE

(1) 7= F1 A2~ Taie Faq o HAmeg T 2|

(2) A FI I G § A S G W WO F 9 ) G == e w6 g

(3) TfEeT 1 SR F1 FA B A 5 T T 97
(4)  HMFE A F @3 § FRE T A
Options :
53622818881. 1
53622818882. 2
53622818883. 3

53622818884. 4

Question Number : 147 Question Id : 5362284848 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 2 Wrong Marks : 0
IUE A= % AR W Hfee F AT H F WHeUE 27
(1)  ==-99Mal 3 fF arEwaEa
(2) |4 HEA 6 Hs S Afyeafed
(3) A T F1 HEETE
(4) A FEa g AiEe wigd = 9 -4gn 8 =g g9m
Options :
53622818885. 1
53622818886. 2
53622818887. 3
53622818888. 4

Question Number : 148 Question Id : 5362284849 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

9T F=E AN W S 0 d Haiaeh @kl H 0 B

(1) =& =l Tiaeie &=
(2)  Sf== = @i =i sua

(3) e 97U IU9Fg A 2

(4) =i 31k TEfe =1 fae
Options :
53622818889. 1
53622818890. 2
53622818891. 3

53622818892. 4

Question Number : 149 Question Id : 5362284850 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

AT =SS % ATAN T HEEd 8 d HH-A1 B0 Bhl A8 7 7

(1) e Sied & & T JEgal J3 @iEed 1  HeUS 7
(2)  EHITTH UEET JEE-AT R THIEE w5 7

(3) T I GAfZ fiaq 6 =aiFd S5 F dmmEg 6 Far 2)

(4) =G SEA HifEed # g = A
Options :
53622818893. 1
53622818894. 2
53622818895. 3

53622818896. 4

Question Number : 150 Question Id : 5362284851 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No

Correct Marks : 2 Wrong Marks : 0

9 SIS F TGN W eetEa 4 9 Anfeea i AR 5 g9 w0 E|

(1)  =mEfS= == # Afgeats ¥ =0

(2)  EEI-ENE HTA L HaA W OTEE

(3) T Tfaa = 32
(4)  =gie2 Saq =i T
Options:
53622818897. 1
53622818898. 2

53622818899. 3

53622818900. 4



